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ALLEN
SUBJECT : PHYSICS

Topic Basic Mathematics Used In Physics, Vectors, Unit, Dimensions and Measurements,
Electrostatics, Kinematics, Current Electricity and Heating Effects of Current, Laws of Motion and Friction,

Capacitors, Work, Energy, Power, Circular Motion, Magnetic Effect of Current and Magnetism, Collisions and
Centre of Mass, Electromagnetic Induction

SECTION-A gre-A
Attempt All 35 questions ooft 35 gy Afart €

Value of 4 + 8+ 12+ ... + 64 is :- I 4+8+12+....+ 64 FHT A& :-

(1) 512 (2) 544 (3) 642 (4) 724 (1) 512 (2) 544 (3) 642 (4) 724
An object starting from rest, the acceleration of 2. sk ST o TRt § 71Tl ST TR LT &, FStashT
a particle is a = 2 (t —1). Then find velocity of TOTa =2 (t-1) ¥ & a1 81 97 ¢ = 10 sec |
the particle at t = 10s is :- FHOT ST T T A -

(1) 15m/s(2) 25m/s (3) Sm/s (4) 80m/s (1) 15m/s(2) 25m/s (3) Sm/s (4) 80m/s
If a unit vector is represented by | 3.  gfa uw i wiew (0_4{ +0.8) +MA() ECU
(O.4iA + O.Sj + MA<> then the value of A is :- wefyta 2R ST ) T | 20 -

(1) VOI (2) V02 (3) V03 (4) V06 (1) VOI (2) V02 (3) v03 (4) VO&
A:a1f+a2j+a3f<and 4. A:a1f+a2j+a3f<«‘-r?ﬂ

B :bliA—i—szA +b31A<. If A is parallel to B B :bliA—i—bng—i—bglA(. I A qaT B @few
then which of the following is correct :- UL & al 7 O e T 9 € -

1) AxB=0 (2 AxB=0 1) AxB=0 (2 AxB=0

ai _ 3 _ 33 a_ a2 _

() 5 "B, b @ Alloftheabove ® 5 =6 b @ IHIE Tt

The Martians use force (F), acceleration (A) 5. Wﬁﬁ?q@ﬁﬁaﬂ(F), U (A)Bﬁ'( W(T)‘Oﬁ
and time (T) as their fundamental physical a fifees Ui & &7 0 ST R ]| e i
quantities. The dimensions of length on formmt wifste gl & gt
Martians system are

(1) FT? (2) F'T? (1) FT? (2) F'T?

(3) F'A’T! (4) AT? (3) F'A’T! (4) AT?
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ALLEN
6.

Measure of two quantities along with the

precision of respective measuring instrument is :-
A=(2.5m/s£0.5m/s)
B=(0.10s£0.01 s)

The value of AB is

(1) (0.25+0.08)m
2) (0.25+0.5)m
(3) (0.25 % 0.05)m

(4) (0.25+0.0135)m
A particle has initial velocity (3I + 4j ) and
has acceleration <0.4f +0.3 j ) Its speed after
10s is :-

(1) 10 units (2) 7 units
3) 7 /2 units (4) 8.5 units

A rocket is fired upwards and its fuel is
exhausted in 10 sec. Figure shows its v-t graph
and t is in s. What is the

maximum height reached ?
VA

where v is in ms™!

1000} ;

> 1

10 100

(1) 1000 x 1 m (2) 1000 x 10 m

(3) 1000 x 50 m (4) 1000 x 100 m

A shell fired from the ground is just able to cross
in a horizontal direction to the top of a wall 90 m

21 RTET T FF{-2d ATTe 30T shT THITSaT
T AT TR -
=(2.5m/s £ 0.5 m/s)
B=(0.10s+0.01s)
AB T 9T 81T -

(1) (0.25 +0.08)m
(2) (0.25+0.5)m
(3) (0.25 £ 0.05)m

(4) (0.25+0.0135)m
forely T <1 STfR AT (3i+4j> qAT T
(0.41 +o.3j) 21 10 TV F UG HO1 HT AT
I -

(1) 10H=H (2) 7 9B

() T2 (4) 8.5 AT

Teh Tehd I HUT T AT AT SATAT & qAT EHT
3;?17{10 secﬁﬁWﬁﬁﬁW%le-tW
o o yeftfa 8, &7 v ms™' § & QAT t AHUE T 2

Tfohe ST ITH JTTehdd SHeils T 8 2
VA4
1000}----- :
5 >t
10 100

(1) 1000 x 1 m (2) 1000 x 10 m
(3) 1000 x 50 m (4) 1000 x 100 m

SRR IR 90 HIeT g aT 45 WX
S AT U ST i AR e i O e i

away and 45 m high. The direction of projection et BT SITAT 1 et & gargur <t foem gnft (aifasr
of the shell will be (from horizontal) :- @) -
(1) 25°  (2) 30° (3) 60° (4) 45° (1) 25°  (2) 30° (3) 60° (4) 45°
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10.

11.

12.

ALLEN
10.

The level of liquid in the two arms of a U-tube
is same in stationary state. If U-tube is moved
to the right with constant velocity the level of
liquid:-

A B

(1) Will be higher in arm A as compared to B
(2) Will be higher in arm B as compared to A
(3) Will remain same in both the arms

(4) None of the above

A body of mass 8 kg is hanging from another body
of mass 12 kg. The combination is being pulled by
a string with an acceleration of 2.2 ms? The
tension T, will be (g =9.8 m/s?) :-

b1

12 kg
/\T2 Ta

11.

T U-elt 1 a1 firedt § feerreeer § 59 &
TR EAM 8l Ffe U-Aelt i f=ra o & gl @

TTfe AT ST S o7 & ;-
A B

(1) ST A | 3= €0, B 3t gt o
(2) ST B & 3= B, A Y g A
(3) AT syeedt § T & wm

(4) ST | & 1S T

8 fohum seumm ot U g 12 fohum soaw s
Th A T U AChl 8| TH HASH I Th SR
g 2.2 HL/AL2 % O ¥ FW e S 2
T T, BT (g = 9.8 m/s?) :-

b1

12 kg
AT2 Ta

8 kg 8kg
(1) 200N (2) 220N (1) 200N (2) 220N
(3) 240N (4) 260N (3) 240N (4) 260N

Drums of oil are carried in a truck. If the truck
accelerates at a constant rate, the surface of the

oil in the drum will -

(1) Remain unaffected

(2) Rise in the forward direction
(3) Rise in the backward direction

(4) Nothing is certain

12.

T B ac ¥ W $9 TE@T &, 2o ol caid i T dad
i Tag -

(1) @ryiferd @it
(2) AT I TR FU 37
(3) Hie il AL S 33T
(4) =g T8l gond
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13.

14.

15.

16.

ALLEN
13.

A particle is released from a height H. At
certain height its kinetic energy is two times its
potential energy. Height and speed of particle

at that instant are :-

H gH H gH
1) — — 2) — o
(1) T 3 (2) 3 y2 3
2H gH H
(3) =30 T 4) 3 2gH

A body is moved along a straight line by a machine
delivering a constant power. The distance moved
by the body in the time t is proportional to -

(1) t3/4 (2) t3/2 (3) t1/4 (4) tl/2

A string of length L is fixed at one end and
carries a mass M at the other end. The string

makes 2/m revolutions per second around the
vertical axis through the fixed end as shown in
the figure, then tension in the string is

.......
=
RS

.
LN Pitag
LT -

EEL TP

(1) ML

(2) 2ML
(3) 4 ML
(4) 16 ML

The maximum velocity (in ms ') with which a
car driver must traverse a flat curve of radius
150 m and coefficient of friction 0.6 to avoid

14.

15.

16.

Tk U1 H S=18 9 Srer srar 21 foedt ffya
TS WX 3Hh Ufas el gHehl Rufas =i
T A B TH &1 9T H K HEAE qGT A
B -

H gH H gl
) — 1/_2 2) — 2,/ ==
(1) 3 3 (2) 372 3

2H gl H

G F/5 @5

Tk e iR e R areft wEfiv 3 g e ag
T T H I Rt W W ] g ad s gl
(1) t3/4 (2) t3/2 (3) t1/4 (4) tl/2

L et sl T SH ok ot o ot g R o san
T i W M g ekt 8l SR T e

TSRA AT SeAle e o aie: (Feergem) 2/n
=R I Sepve quf et 21 SR H e ®

2gH

______
-
R

. »’
""""""
-----------------

(1) ML

(2) 2ML
(3) 4 ML
(4) 16 ML

150 Hiet Fsam qr 0.6 =NOT Ui ATet STshTshi
ANt @ IR A GHT Uh SR SRR H fRE
Aftrehan =Ter (i8S W) ¥ R H FAT

skidding is :- aﬁqﬁﬂﬁﬁﬁ%ﬁﬂﬁﬁ:-

(1) 60 ) 30 (1) 60 ) 30

3) 15 4) 25 3) 15 4) 25
| RANK BOOSTER TEST SERIES 09990MD613721006
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17.

18.

19.

20.

ALLEN
17.

All particles of a body situated at a distance 'R’
from the origin. The distance of the centre of

mass of the body from the origin is :

(1) =R (2) <R @(3) 2R & >R

A system consists of two identical particles. One
particle is at rest and the other particle has an
acceleration a. The centre of mass of the system has

an acceleration of
(1) 2a
(2) a

3)

4)

RN ST

A charge Q is divided in two parts Q, and Q,
and these charges are placed at a distance R.
There will be maximum repulsion between

them when —
(1) Q=Q-q:Q,=¢q
2) Qi=—,Q=

G) Qi =—

An electric charge 2 x 10® C is placed at
origin. At point (0, 0, 1m) the direction of

electric field is :-
(1) Along x-axis
(2) Along y-axis
(3) Along z-axis

(4) inxy plane

18.

19.

20.

T ] 6 WL 0T 35 qafeg & R' g W &, ar

SHoh SoIHH e ohi 7t foreg & gl et +-
() =R (2 <R (3) >R (4 >R

T 9ot § <7 GHET 0T | Ueh hoT foe Sfaeer
o T T T H @R a B T F 5o
g I caU & -

(1) 2a
2)
3)

o

4)

Q ST I & WY Q, @T Q, H famiivra s,
378 R gl 0 T@T STl &, M1 I o s gt
gfceRsor g, Ife

Ao |

() Q=Q-q:Q,=¢q

2
@ =3 =3
3
G =22 u=2
@ Q=Q=3

T forggd e 2 x 10°* €, 7 foig w2 T@m gam
21195 (0, 0, 1m) T g & < fmm &t -

(1) x-37&1 % 3TIfaR
(2) y-31& o Ifest
(3) z-31& % gl

(4) xyddH
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ALLEN

21. Figure shows four charges q;, q,, q; and q, 21. fem, sy § o =w SAmawn Qi> 9> Q3 AUT g4
fixed in space. Then the total flux of electric T JEiITd Har 8| IR AT di> 9p» G5 AT q4 &
field through a closed surface S, due to all hI{UT, sl ddg S QWQWW% -
charges q, q,, 3 and q, is :- .ql_. ————— - *%

I % " \\\\
-~ =~ 7
el N l\ o(; e, "
{\ o(; e, ! \\\ _ ,//
\\\ _ /// TTem—— -
(1) not equal to the total flux through S due to (1) 3MEA g, TIT q, & HAOT Tqg S & WG
charges q; and q, AR o SIS TR
(2) equal to the total flux through S due to 2) AT q; qAT qq % HNUT HAg S U TG
charges g; and q, AR oh SR
(3) zeroifq, +q,=q;+qu 3) Sé-Brzrl%"r(ll"“]2:(13*(14
(4) twice the total flux through S due to 4 AT q; qAT qq % NV TqE S ¥ 9
charges q; and q, if q; + ¢, = q; + qq AR T AT A ) + gy = g3+ G

22. Two spheres of radii 2 cm and 4 cm are charged 22. 2 UHt qUT 4 A AT & & MeAr W owHH
equally, then the ratio of surface charge density Y & A IH 9g JATIY T HT SREIN
on the surfaces of the spheres will be - BT -

(1) 1:2 (1) 1:2
2) 4:1 2) 4:1
(3) 8:1 (3) 8:1
4) 1:4 4) 1:4

23. Across a metallic conductor of non- 23. YO U=RE (1=i < é) * g1 % ot =TeTes & &t
uniform cross-section a constant potential i & e w Reer favarae smafua fera s
difference is applied. The quantity which HEGEIGERCS aﬂgiém St st sfafda @t g
remains constant along the conductor is :- T
(1) Current (1) forga ama
(2) Drift velocity (2) 3UATE AT
(3) Electric field 3) form &=
(4) Current density (4) o YA

| RANK BOOSTER TEST SERIES 09990MD613721006
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ALLEN

24. A network of nine conductors connects six points A, 24, & 7 gfgy & B qu1 C & "W qea e
B, C, D, E and F as shown in figure. The figure T |
denotes resistances in ohms. Find the equivalents A
resistance between B and C.
B
B
5
(1) 4Q (1) 4Q (2) EQ
10 8 10 8
—Q 4) 20 —Q 4) 20
®) 3 O ®) 3 O
25. The resistance of a moving coil galvanometer is 25. =« EFU%"Fﬁ RET T IfaY 20Q B W q;ﬁ
20Q. It requires 0.01 ampere current for full scale fargia & foTw 0.01 TfEwRR ey SATawere 21 36! 20
deflection. The value of resistance required to Jiee AT I AleeHie ¥ sdaq & folt T1avaeh
convert it into a voltmeter of range 20 volt will be :- gferRIer BT T 2T -
(1) 198 Q (1) 198 Q
(2) 1980 Q (2) 1980 Q
3) 200 3) 200
4 0Q 4 0Q
26. Two heater takes 10 minutes and 20 minutes 26. ?r‘zﬁzr,qﬁa?rwqmaﬁ aﬁﬁﬁ%%’q 10
time to heat same amount of water, if heater fie qom 20 fime =1 g7 @9 21 Ife Hex =
are connected in parallel then what would be A= S0 | STie o S ar art ot 3t 7 s
time required to heat same amount of water :- T T % T2 STTavaIs wHg I e -
(1) 30 minutes (1) 30fFme
20 20
2) 3 minutes (2) 3
(3) 40 minutes (3) 40 fme
(4) 15 minutes 4) 152
| RANK BOOSTER TEST SERIES 09990MD613721006
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ALLEN

27. When a parallel plate capacitor is connected to 27. &9 U& @H-AX Yz @ty @ fFd
a source of constant potential difference. Then faar=at arel |d ¥ Ser Srar 8, 99 AHeT
incorrect statement is - FIT T -

(1) all the charge drawn through the source is (1) ®d % ATeqq § Janfed 9 SAET dorfer §
stored in the capacitor dfaa g

(2) all the energy drawn from the source is (2) B g AR AW et gurter § d@fua

tored in th it

stored in the capacitor A

(3) the potential difference across the ) . .

) o (3) G o Rl o wer forvrar=at g | st

capacitor grows very rapidly initially and
this rate decreases to zero eventually ST 8 AT T ﬁ-ﬁ?ﬁ@'ﬁ%l

(4) only half of the energy drawn from the (4) H % gRT &1 T8 SHo1l okl SATET AAT & i
source is dissipated outside the capacitor % STeL =39 BT 2

28. In given circuit, the amount of charge on the | 28. U T uftwy ¥ Henfer it wie W A=W

capacitor plate is :- qEATE :-
A]-A.(BA ‘A]-AgAzA AAAA AAAAA
S5uF 20 SuF 2Q
F——ww— — F——ww—]
| |
| |
2.5V 2.5V
(1) 10puC (2) 5pC (1) 10puC (2) 5pC
(3) 12.5uC (4) 25uC (3) 12.5uC (4) 25uC
29. In the figure, the magnetic induction at point O is:- 29. weRiafmd %!-_S_: OW @mﬁa SROT BT -
I I
I T
‘-O \*O
pol nol pol pol nol pol
W T T O 2 @ Gt
nol pol nol nol nol pol nol pol
3) — — 4) — - — 3) — — 4) — - —
®) 4r + 4qr @ 4r 4mr ®) 4r + 4qr @ 4r 4mr
| RANK BOOSTER TEST SERIES 09990MD613721006 |
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30.

31.

32.

33.

ALLEN
30.

All the solenoids are identical and long.

— TUOTOU0 e —
L, 00— voueueee—

A I
L TOUOIOO—]
T

If magnetic field at point 'A' is 'B' then Find
magnetic field at 'C'.

(1) B 2) 2B (3) 3B (4 %

Surface charge density on a ring of radius a and
width d is ¢ as shown in the figure. It rotates with
frequency f about its own axis. Assume that the
charge is only on outer surface. The magnetic

field induction at centre is (Assume that d << a) :-

a3

2) nofod

slale

(1) mpyfod

2
(3) 2mp,fod 4) —fod
2po

A vertical circular coil of radius 0.1 m and having 10
tumns carries a steady current. When the plane of the coil
is nommal to magnetic meridian, a neutral point is
observed at the centre of the coil. If B;=0.314 x 10* T,

then the current in the coil is :-

(1) 0.25A (2) 0.5A

3) 1A 4) 2A

A rectangular coil has 60 turns and its length and
width is 20 cm and 10 cm respectively. The coil
rotates at a speed of 1800 rotation per minute in a
uniform magnetic field of 0.5 T about its one of the

diagonal. The maximum induced emf will be :-

(1) 60V (2) 220V (3) 113V (4) 330V

31.

32.

33.

Ffe gt aiefererd gaey aur wwsl 21
C
— OO0
Ly s00000—|— 000000000 —

A I
L TOUOOO—]

—— 000000000 —
afe forg 'A' W IRl & 1 A B R A ferg
'C' O FSTehI &1 T W T €T

B
“) 7
a B @ d SeR & TF IO W g8 Aew
T o 2l I8 T o 314 % Q£ AT & g
L TET Bl AT T 1991 Shaet goeh! STedt gag W
1 T 5 T I TrIhIT & B (d << a) -

L

(2) pofod

() B (2) 2B (3) 3B

slale

(1) myyfod
7'[2
Efﬁd

0.1 #iet Fora oAl U Sreatar TR Fuset | 10 H
& 3T g wmft e 21 S St T et b
ATRIR o a2 A FUSET o s T Teh 3T
formg T €hem @ Afe By, = 0.314 x 107 &, @
Wﬁw:-

(1) 0.25 TftmR (2) 0.5 TftwR

(3) 1TfmR (4) 2 TR

T SATAATHR FUSTH! STEH 60 =L TAT IHh! TS
3R e suer: 20 Tt 3 10 A R TR
FUSAT 0.5 THAT o T GHI Iraehd & H 1800
Tt i e ot =mer & T o foreft forapot o i@
i o T 2 A STfreRan St fara, s g -

(1) 60V

(3) 2nufod )

(2) 220V (3) 113V (4) 330V
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ALLEN

34. A field line shown in the figure. This field line

cannot represent -

(1) Magnetic field

(2) Electrostatic field
(3) Induced electric field
(4) All of above

35. A transformer is used to light 140 watt 24 volt lamp
from 240 volt AC mains; the current in the main cable

is 0.7 amp. The efficiency of the transformer is :-

(1) 63.8% (2) 94 %
(3) 83.3% (4) 48 %
( SECTION-B h

This section will have 15 questions. Candidate

can choose to attempt any 10 question out of

these 15 questions. In case if candidate attempts

more than 10 questions, first 10 attempted
L questions will be considered for marking.

J

36. A man crosses the river in minimum time of 10
minute with a drift of 120 m. If he crosses the
river in shortest path he takes 12.5 minute.

What is his swimming speed ?
(1) 20 m/minute
(2) 15 m/minute
(3) 10 m/minute

(4) 5 m/minute

34, for warn fomr fordl) &1 it o7 Tt i st 2
o 7 faeredl § @ 92 form & o1 wefdia 78
Hohell 8-

(1) b &
(2) TR dgaam
(3) it forga &=
(4) IHE aft

35. 240 9 AC BH ¥ 140 912, 25 I & oo i
ST 3 T Toh ZTrawhie T 21T €, T shise

T 9T 0.7 VTR B ST-AwhinT hY &THaT & -
(1) 63.8% (2) 94 %

(3) 83.3% (4) 48 %

( TUE-B
A @IS T 15 97 81 wameff 37 15 v 7 A A
Y 10 w2 X Gehar 21 IS Thremeff 10 & Aftrem wx

grﬁlw%m%?ﬁwﬁ?&ngmwﬁm

- J

36. U SATh 741 I <A and 10 e § aiferst fawm
W foEToT 120 m % AT IR R e 8| A a8
AT T T L FHI AL HL AT 12.5 e 01 2
STk ST AXTehT T =Te 1T 82

(1) 20 =t /fiFe
() 15#./fe
(3) 10 Ht./fme
(4) 5di/fime
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ALLEN

37. A boat-man can row a boat with speed 10 m/s in 37. Ueh ATfceh I0d IFT H 10 m/s shl =Tl & A1l el
still water. River flows steadily at the rate of 6 m/s AT 2 TR T 6 m/s T T Y T8 & S o 76
and width of the river is 80 m. If the boat-man cross

. . 1 =eTs 80 m 21 AT =IHaH I o ST T
the river along the shortest distance of approach . o0 >
then the time taken by him to cross the river :- AT T, T a1 TR B 5 & S0 -
(1) 8sec (2) 10 sec (1) 8sec (2) 10 sec
(3) 12sec (4) 6sec (3) 12sec (4) 6sec

38. A ball rolls off the top of a staircase with a 38. U Tig Hifedi & R (top) A u A F AT A
horizontal velocity u m/s. If the steps are h Wgﬁ it 21 e sede it (step) Tl 3 EIE
metre high and b metre wide, the ball will hit h TeX qT =TS b HeT 7, a1 g n €l & N
the edge of the nth step, if :- T TR, At -

2hu 2hu? 2hu 2hu?
() n=—= (2) n= () n=—= (2) n=
gb gb gb gb
2hy? hu? 2hy? hu?
(3) n= u (4) n:L (3) n— u (4) n:L
gb? gb? gb? gb?
39. In the arrangement shown in figure, coefficient of | 39. o= & guiift woft soyerwen #, g TJIZT#?f % T Ty
1 . 1 ) .
friction between the two blocks is p = 5 - The ToTTeh p = 5 H aﬁgzﬁ% s FriTd oY I
force of friction acting between the two blocks is :- g
e F=2N e F=2N
F,=20N 4kg F,=20N 4kg
W/ W/ /A
(1) 8N (1) 8N
(2) 10N (2) 10N
(3) 6N (3) 6N
(4) 4N (4) 4N

40. Two springs of spring constants 1500 N/m and 40. <1 i fomek T feaies suer: 1500 N/m 3R
3000 N/m respectively are stretched with the 3000 N/m ®, %l UHEHN g & Ti=r STar 2
same force. They will have potential energy in Ieht Rearfest St CREINS KUl
the ratio.

(1) 4:1 2) 1:4 (1) 4:1 2) 1:4
3) 2:1 4) 1:2 (3) 2:1 4 1:2
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ALLEN

41.  The string of a pendulum is of length €. It is made 41.  UH AR hT SR T AEITE (2 38 Sfers FRAT ST g
horizontal and then left. A nail is located at a ﬁw@@ﬁmw% @Eﬁﬁﬁwﬁlﬁo (point
distance d below the point of suspension. For the of suspension) F = daﬁmﬁi’ﬁél g T i 6
ball to completely swing around in a circle centred I 3R Qaﬁﬂ?fﬁ, oo s T W, ngfaw
on the nail, the value of d in terms of length ¢ is :- SUIECA O] dwqﬂﬂﬁﬂé zéaqaﬁ%

(1) 0.5¢ (2) 0.6¢ (1) 0.5¢ (2) 0.6¢
(3) 04¢ (4) 0.25¢ (3) 04¢ (4) 025¢

42. A bullet of mass m strikes a pendulum bob of | 42. m FeIHM I T Al u AT & M THHAE & Teh
mass M with velocity u. It passes through and AlcTeh o1 ¥ TRl 2] I8 399 TSdl g8 o9 °
lemeiﬁes fmtl}: with ; \lleloc'ityﬁu/iN t;rloin EobidT};e w2 3T & e - s (3

ength of the pendulum is €. at should be .

L : I3 TAletsh STl I sl qUF LT &, A u 1 FAaq
the minimum value of u if the pendulum bob < o &
will swing through a complete circle? HIH T €T AT 2

2M 2M
(1 x4/3gt (1) x/5gl
m m
M — M
2) —4/5gt 2) —4/5gt
(2) 5-+/58 @) 5—-/3¢
oM | oM |
3 — 3 —
) mx\/SgE ) mx\/SgK

M 1 M 1
4) —x—F7— 4) —x———

@ 2mX Sgt @ 2mX Sgt

43. EFElectric field at a far away distance r on the 43. ﬁ%\l}f 1%‘%3[ k) SEd AT Wr Eﬁ oT flerq fereft
axis of dipole is Fjo. What is the electric field %l’r_g 5Ky %@gﬁ & Eo gar s’vﬁ? R 37 U 2r
at a distance 2r on perpendicular bisector ? Eﬁmﬁ%ﬁ%“ﬁ%ﬁ & BT 2

Eo Eo
1 =2 1 =2
(1 T (1 T
F:() FIO
2) =% 2) - =Y
() T () T
F:() FZO
3) == 3) ==
8 8
F:() F:O
“4) —— (4) _=0
8 8
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ALLEN
44.

44, A quantity of charge Q, is distributed uniformly
through a sphere of radius R. A smaller sphere, of
radius d and concentric with the large sphere, is
now removed from it; leaving a spherical cavity
with no charge in it. The charge density of the
remaining shell has not changed. The electrostatic

potential at a distance r > R, outside the shell, is
1 Q(R?-—d%)

4neg R3

1 Qr

4neo rd3
1 QR’

drney rd3

1 Qd?
dney rR3

(1)

2)

3)

4)

45.  For the following diagram the value of V in volt is :-
COMMON

+10 volt +6 volt +5 volt

() 4 @) 6 3) 8 4) 10

46. By error, a student places moving-coil voltmeter
V (nearly ideal) in series with the resistance in a
circuit in order to read the current, as shown.

The voltmeter reading will be

1
E=12V,r=2Q

45.

46.

R FF=ar aret Mot o AW it Q HIET TH
AT &9 ¥ faafa 81 oI« 978 Mo ¥, d B
T Teh BT AT Th-s1 €Y F g f7d1 SIrar
2, Fre® AT ed T MR i AT @
STt 21 = §Y MA H AT BAcd AR
TEdl €| hiel o Sl r > R gl WX foga fova
BT ;-

1 Q(R®-d?
4neq rR3
1 Qr’
4ﬂ80rd_3

1 QR?

dney rd3

1 Qd?
dneg rR3

fefEdvearaaaice dw= e -

(1)

)

)

4)

1
+10 volt +6 volt  +5 volt

(1) 4 Q) 6 (3) 8 4) 10

T faamefl 1, Tt ¥ Feguset deeHiet v

(ST 37eRT) ot ufvaer o wfcdrer o @rer st shy

W Ry AT o o RETET S o @) dieeHie
HT TSI BNTI-

E=12V,r=2Q
40) 10
(1) 0 (2) 4V (1) 0 (2) 4V
(3) 6V 4) 12V (3) 6V 4) 12V
| RANK BOOSTER TEST SERIES 09990MD613721006
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47.

48.

49.

50.

ALLEN
47.

Three capacitors of 2uF, 3uF and 6uF are joined
in series and the combination is charged by means

of a 24 volt battery. The potential difference
between the plates of the 6uF capacitor is

(1) 4 volt

(2) 6volt

(3) 8volt

(4) 10 volt

A magnetic field :-

(1) Always exerts a force on a charged particle
(2) Never exerts a force on a charged particle

(3) Exerts a force, if the charged particle is

moving across the magnetic field lines

(4) Exerts a force, if the charged particle is
moving along the magnetic field lines

Two magnets are held together in a vibration
magnetometer and are allowed to oscillate in the
earth's magnetic field. With like poles of magnets
together, 12 oscillations per minute are made but for
unlike poles together only 4 oscillations per minute

are executed. The ratio of their magnetic moments is

() 3:1 (2) 1:3 (3) 3:5 (4) 5:4

Two coils carrying current in opposite direction
are placed co-axially with centers at some finite
seperation. If they are brought close to each

other then current flowing in them should be :

48.

49.

50.

2uF, 3uF QT 6pF o diT Genfer sofishy o s
T 3R 38 (e T 24 diee i Sl @ e
fRam ST Bl 6uF & danfe f widl & o
ICECIC

(1) 4 volt

(2) 6 volt

(3) 8 volt

(4) 10 volt

RThI & -

(1) T EHT AR F T T ar &
(2) AT 0T G oA el At eAvrrarr @

(3) & SAERME U Freh & hl @l *
SAveTer fa | 71f ST &, T S @I &

(4) ST TSI HOT Trafehiy & i L hl fawm
H 7T ST R, I S ST

T S FrareheaTdT | &1 ek Uoh |1 T ST
& 3R qeaft o Trerehid & | qre HLd 8| T o
gl o | 8 T WA fire 12 3ie 8 8, T
Tt graii < e @iy € At Rt § wfd fime
At 4 A1 B UTd €| Ireihig SATE0T T AFATT
Zm

() 3:1 (2) 1:3 (3) 3:5 (4) 5:4

ar puefeat foms fodia faem & gm @ wefa w9
U %% gt T T S © Fle 37 Tk gEL o I A
TﬂQFﬁ%ﬂﬁW:

(1) Decrease (1) =it

(2) Increase (2) st

(3) Remain same 3) Tae =t

(4) Zero 4) A
| RANK BOOSTER TEST SERIES 09990MD613721006
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ALLEN
SUBJECT : CHEMISTRY

Topic

Solid State, Structure of Atom, Solutions, Classification of Elements and Periodicity in

Properties, Electrochemistry, Chemical bonding and Molecular Structure, Chemical Kinetics,

Equilibrium, Surface Chemistry, Some Basic Concepts of Chemistry, Thermodynamics

SECTION-A T us-A
Attempt All 35 questions ¥t 35 ¥ faE §

51.  Which of the following species do not exist ? 51. e o o et yenfa st 72 wdt 2

(1) XeF; (2) CIF, (1) XeF; (2) CIF,

(3) SiCl (4) All of these (3) SiCl& (4) Iuh aeft
52. Correct order for H,O and HF will be :- 52. H,0 Wd HF % foTT Tt shu BT -

(1) H,O > HF; H bond strength (1) H,O > HF; H s&1 qmed

(2) HF > H,0; H bond extent (2) HF > H,0; H 5 1 911

(3) HF > H,0; melting point (3) HF > H,0; TTeHish

(4) H,O > HF; boiling point (4) H,0 > HF; F9-ish
53.  Intramolecular hydrogen bonding is not present in : 53. HAA:AUHT s@j S sy Jfked T S -

(1) Urea (2) Choral hydrate (1) Ffen (2) FARA BTZSE

(3) Salicyladehyde  (4) o-fluoro phenol (3) Gcfafeease (4) o-FAR fHater
54.  Select dipole-dipole attraction :- 54. %%3%%3 STTHNOT ST = L -

(1) NH;4 ........ Cl, 2) Cl,........ Cl, (1) NH;4 ........ Cl, 2) Cl,........ Cl,

(3) HCI........ HC1 (4) H,........ H, (3) HCI........ HC1 (4) H,....... H,
55. Ina given molecule 55. f@am™ Sl T

F F
Cla Ib Cla b
91 FJ‘F 61 FJ‘F
CI 0, CI 0,
F _F

which option is not correct : i foerey Tt TR ©

(1) a>b (2) b>a>c (1) a>b (2) b>a>c

(3) b>c¢ (4) 6,>0, (3) b>c¢ (4) 6,>0,
| RANK BOOSTER TEST SERIES 09990MD613721006
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56.

57.

58.

59.

60.

ALLEN
Which of the following compound are isomorphous. 56.

(1) NaF, CaO (2) Na,O, MgS
(3) NaF, MgO (4) NaCl, MgF,
Which of the following has the minimum bond length:- 57.
1 0y (@ 0; ()07 &o

In which of the following pair of species 2n 58.

and half ¢ bond is present :

) N;r and N~ ) N;r and C,
(3) 07 andN;" (4 Oy and C;
Match the column correctly :- 59.
Column-I Column-IT
(Atomic Number) (symbol)
(A) 105 (P) Mc
(B) 109 Q) Md
©) 115 (R) Db
(D) 101 (S) Mt
A |B |C |D
() [R |Q |P |S
2)|R [S |Q|P
3) (R |S |P |Q
@ (S |P |Q[R
Select the incorrect option or statement is :- 60.

(1) The equation of 2" IP is X(g) — X2 + 2e"
(2) 2™ 1P of an element lower than its 3™ IP
3) CI'>F (LE)

(4) Ionisation enthalpies are always positive

for a neutral atom.

et 3 & e 2hfires TR £ 2

(1) NaF, CaO (2) Na,0, MgS
(3) NaF, MgO (4) NaCl, MgF,
T 3 fopeh! s SvarTs —AaH & -

1) 0y @ 0; ()07 &o

frfafed & & FEr TS & 3w 20 q
YT 6 9 TEAT @ :-

(1) N, qarN, (2) N, qunC,
(3) Oy @uTN,’ 4) Oy @enCy
aref gaferd AR -
ARt AROf-1I
(AT ST (&%)
(A) 105 (P) Me
(B) 109 Q) Md
(©) 115 (R) Db
(D) 101 (S) Mt
A |B|C |D
() |R |Q|P |8
@ |R |s |Q|P
3)|R [S [P |Q
@ |s |P |Q|R
T FHUT AT forehed 1 =3 L -

(1) 2™ IP =t FHRTT X(g) — X2 + 2¢ Rl
(2) e T 2" [P 3% [P ST 7L HH BT 2
(3) CI' > F (g Sl

(4) 3TEWE A & AT AT AT R
YT Blel 2
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61.

62.

63.

64.

65.

66.

67.

68.

ALLEN

The electronegativity of aluminium is similar to :-
(1) Carbon (2) Boron
(3) Beryllium (4) Lithium
Correct order of electron gain enthalpy is :-
(1) S>Se>Te>0 (2) O>S>Se>Te
3) S>O0>Se>Te (4) Te>Se>S>0
Correct order of atomic radius in group 13" elements :-
(1) B<Al<In<Ga<TI

(2) B<AlI<Ga<In<TI

(3) B<Ga<AlI<TI<In

(4) B<Ga<Al<In<TI

Which of the following oxide is amphoteric in character ?
(I) B0,

The IP,, IP,, IP; and IP, of an element are 16, 28, 34,
270 eV respectively. The element is likely to be :

(2) Na,0 (3) Ga,0; (4) BaO

(1) C 4 O
The electronic configuration of Lanthanum (La, Z=157) :

@) B (3 N

(1) [Xe] 6s%4f (2) [Xe]6s?5d!

(3) [Xe] 6s25f' (4) [Xe]6s'4d®

How many number of unpaired electrons are

present in Lu ?

() 0 2 1 (3) 2 G

A solid has a structure in which W atoms are
located at the corners of a cubic lattice, O atoms
at centre of edges and Na atoms at the centre of

the cube. The formula for the compound is :-
(1) NawoO, (2) NaWO,

(3) Na,WO, (4) NaWo,

61.

62.

63.

64.

65.

66.

67.

68.

UeTHiTrRr sht fergla=ordT §T ¢ :-
(1) e (2) @
(3) Sftferam (4) <erm
T TRV U T EEl A ¢ -
(1) S>Se>Te>0 (2) O>S>Se>Te
3) S>O0>Se>Te (4) Te>Se>S>0
T 13 o qeall o oA o] e o ael sh € -
(1) B<Al<In<Ga<TIl

(2) B<AlI<Ga<In<TI

(3) B<Ga<AlI<TI<In

(4) B<Ga<Al<In<TIl

1 o @ i SiierTse R o Sware & 2

(1) B,O;

foret qea Y T I ST Tt & |19 16, 28,
34,270 eV & I HIFHT dedl BT

(1) C (2) B (3) N 4 O
AT (La, Z = 57)71 Siaii"eh fa=ma & -
(1) [Xe] 6s%4f'

(2) Na,0 (3) Ga,0; (4) BaO

(2) [Xe]6s*5d'
(3) [Xe] 6s°5f! (4) [Xe]6s'4d’
Lu & fora sgfina seragia sufterd & 2

(1) 0 2) 1
T 319 Seeh! temt § W o] el Srete o
AT T o 8, O TAT] R o hex T ford
qT Na TCATY] B9 % =5 T Reerd €, a1 AR &
Fljfﬁ"l'f:-

(1) Nawo,

) 2 @ 7

(2) NaWo,

(3) Na,WO, (4) NaWo,
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ALLEN

69. Ferrous oxide has a cubic structure and each | 69. WE IHFEEe i =T E@=HT U Shs A &
edge of the unit cell is 5.0A, assuming density Tedeh ShIT hl AFTE 5.0A 8| SATHETESE T Ocd
of the oxide as 4.0 g cm™ then the number of 40 g cm™ 21 A Tedeh $ohTS Tet H SURYA Fe2
Fe'? and O% ions present in each unit cell will T0- S £ e ﬁﬁ (M., of FeO = 72) -
be (M,, of FeO = 72) :-

(1) Four Fe*" and four O* (1) IR Fe* 90>

(2) Two Fe’* and four 0> (2) A Fe? T9RO>

(3) Four Fe*" and two O* (3) IR Fe* a1 0>

(4) Three Fe*" and three O* (4) a9 Fe*" adi 0>

70.  Gold number is : 70. @O EHEATE :

(1) The mass of lyophilic colloid in mg which (1) 10 fircht witw Trggioarse dfa o 1 fircft
should be added to 10 ml of ferric hydroxide sol 10% NaCl forera fae X Theed U &
so as to prevent its coagulation by the addition T avas g@ wE wdizes f oA
of 1 ml of 10% sodium chloride solution (ferm )

(2) The mass of lyophilic colloid in mg which (2) 10 fireft e |t 9 1 et 10% NaCl
should be added to 10 ml of standard gold o e W T U & f\FfQ
sol so as to prevent its coagulation by the AT 39 el hidiss Sl Hefum o
addition of 1 ml of 10% NaCl qrT

(3) The mg of gold salt to be added to a 3) forell 5a =& FIdse & Thead o foIT foam
lyophilic colloid to coagulate it T Mieg AT Y AT

(4) The mg of a electrolyte required to (4) TF FIASS hl Thead F F fou s
coagulate a colloid agﬁ-m Sl AT

71.  Which of the following is not correct for 71, TeH IR0 &% fu e § 9 et ot 98
enzyme catalysis ? 22
(1) The enzyme activity is maximum at (1) Trgdt foramsfierar CLE] JHeAdd pH AN

optimum pH which is between 5-7. T AfTHdT BT 7, ST 59 7 o A 2

(2) Each enzyme is specific for a given reaction. ) H@EFQEIEI[E’TTI? I E éa%qﬁﬁ@%ﬁm%l

(3) The favourable temperature range of (3) T~IrEH foramsfierar & foo STIHATH T &
enzyme activity is between 50-60°C. TE 50-60°C % HET

(4) The enzymatic activity is increased in presence (4) T~ITeH ERINISG R veref il Uttt o
of certain substances called co-enzymes. ¢ ST ® =2 Teugy #ed 21

| RANK BOOSTER TEST SERIES 09990MD613721006 |

E + H /27022022

Space for Rough Work / TP cav ks 1%1: Slilg

Page 19/56



ALLEN

72.  Vapour pressure of pure benzene is 800 mm Hg. If 3g 72. < SIS T 9T €« 800 mm Hg HISE] 3g
of non-volatile solute is added in 19.5 g of benzene, JraTyefiet foret hl 19.5 g Sisi H forerman Sirar 8
the vapour pressure is reduced to 760 mm Hg, a1 AT €1« 760 mm Hg dh &1 STt g, fooa =
Calculate molar mass of solute ? STUTATL T BT 2
(1) 128 ¢ (2) 300¢g (1) 128 ¢ (2) 300¢g
(3) 400¢g (4) 228¢ (3) 400 g (4) 228¢

73.  An ideal solution has two components A and B. 73. U Y Ao H &1 o2k A 9 B 81 afG A F¥
If A is more volatile than B and also P > P, arqfierar B § AfYeh & aon Py >Pr, qarA
then the correct relation between mole fraction T 59 STTEATH (X) T 91T AT H (Y) Hiet fr
of A in liquid (X) and vapour (Y) phase is :- & A& HE g § -

(1) Xa=Y, (1) Xa=Ya
(2) Xa>Ya (2) Xa>Y,
() Xa<Ya () Xa<Ya
(4) Nothing can be said 4) g@:@rwmm

74. The molar conductivity for acetic acid at 0.2 M 74. 0.2 M 9igdl T 374 dgdr 9t Q’iﬁﬁ% T+
concentration and at infinite dilution are 4.8Q°" 6T AT SATCTohdT ShETT: 4.8Q ! cm? mol™! 3T
cm” mol™" and 400 Q' cm? mol ' respectively. 400 Q' cm? mol ! B Y SHHT S s
It's dissociation constant (K,) is (K,) 2l
(1) 2.88x10™* ) 49x10" (1) 2.88x10™* (2) 49x10*

(3) 2.88x10° (4) 2.88x107 (3) 2.88x10° (4) 2.88x 107

75. Pt(H») 0.0l M H'||0.1 M H| Pt(H>). 75. Pt(H») 0.0l MH'||0.1 M H| Pt(H>).

X atm y atm X atm y atm
If E,, = 0.00 V, then % is - AR E,, =0.00V,d = .-
y
(1) 100 (2) 10 (3) 0.01 (4) 0.1 (1) 100 (2) 10 (3) 0.01 4) 0.1

76. 2NO + 2H, — N, + 2H,0. The experiment rate | 76. 2NO + 2H, — N, + 2H,0. Wk 3fafshar &
law for above reaction is rate = K[NOT*[H,]. When e et frm 5 = K[NOJ[H,] ?1 afe aux fime
time is in minutes and the concentration is in T 3R gsdal mol/L ¥ ® T &t Remish (k) &t
mol/L. The unit of rate constant (k) is :- THE T -

3 1 12 L? mol? mol mol? L?
1 mol ) mo mo 1 P
(1) L3 min( ) L min 3) L2 min mol2 min (1) L3 min( L min (3) L2 min mol2 min
| RANK BOOSTER TEST SERIES 09990MD613721006
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77.  For reaction X — Y + Z(g) half life is
independent of the concentration of X. After 20
minute volume of gas Z is 10 mL and after very
long time volume is 50 mL, the rate constant is :

2.303
20

2.303

(1) log 5

2)

log 1.25

2.303
10

2.303
20

3) log 2

4) log 4

78. Choose the incorrect statement :-

(1) For a particular orbital in hydrogen atom,

the wave function may have negative

value

(2) Radial probability distribution function

may have zero value but can never have

negative value

3) 3dxz _ > orbital has two angular nodes and

one radial node

(4) yz and xz planes are nodal planes for d,,

orbital

79. Arrange the orbitals of H-atom in

increasing order of their energy :
3pX7 2S’ 4de7 3S’ 4pZ7 3pya 4S

(1) 2s<3s=3p,=3p,<4s=4p,=4d

Xy

(2) 2s<3s<3p,=3p,<4s=4p,=4d

Xy

(3) 2s<3s<3p,<3p,<ds=4p,=4d,,

(4) 28<3s<3p,=3p,<4s<4pz<4d

Xy

ALLEN
77.

78.

79.

ARBRT X — Y + Z(g) % fow srgemy wmftvs
T5dT & T 2l 20 fiee germa i Z 1 31mraq
10 mL T S8 9T 1€ 50 mL JTH 3T T &
IERGIERSE
2.303
20
2.303

(1) log 5

)

log 1.25

2.303
10

2.303
20

3) log 2

4) log 4

T FYT DI -

(1) H-9w & forelt fafkre e & fag adn
EA T HTH SRUTTcH Bl Tehdl 2

) =g wilReear  faa@or wed (radial
probability distribution function) T HH
I &1 EhaT € foheq it off omrene T |
|

3) 3dX27y2ﬁE\T3ﬁUﬁ'Jﬁ€H$TQEFﬁFJ:ﬁ€
grar 2l
(4) yz T xz T d,,, F:&T % [T ASA qA &

H-qwy & fAwfefad serel sl STl st
TE&d sHH T I TYd N ;
3py, 28, 4d,,, 3s, 4p,, 3py, 4s

(1) 2s<3s=3p,=3p,<4s=4p,=4d

Xy

(2) 2s<3s<3p,=3p,<4s=4p,=4d,,

(3) 2s<3s<3p,<3p,<4s=4p,=4d,,

(4) 2s<3s<3p,=3p,<4s<4dpz<4d,,
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80.

81.

82.

83.

ALLEN
80.

Following two equilibrium is simultaneously
established in a container
PCly(g) = PCli(g) + Cly(g)

CO(g) + Cly(g) = COCly(g)

If some Ni(s) is introduced in the container
forming Ni(CO),(g) then at new equilibrium

(1) PCIl; concentration will increase
(2) PCI; concentration will decrease
(3) Cl, concentration will remain same
(4) CO concentration will remain same

What is the percentage degree of dissociation
for the following reaction if the observed
vapour density of SO; gas is 32.

2SO3(g) — Oz(g) + 2802(g)
(1) 25% 2) 75%

(3) 50% “4) 12.5%

Which of following will have maximum pH :-
(1) 0.1 M CH;COOH (K, =107

(2) 10* M HCI

(3) 102M HCI

(4) 102 M H,SO,

Which of the following is a true statement :

(1) The ionisation constant and lonic product

of water are same

(2) The value of ionic product is less than that

its ionisation constant
(3) Water is strong electrolyte

(4) At 298 K, the number of H" ions in 1 litre
of H,0 is 6.02 x 10"

81.

82.

83.

e 31w urE § Uk ary wnfid B R
PCls(g) = PCly(g) + Cly(g)

CO(g) + Cly(g) = COCly(g)
afe Nis) # F& AT 9F H TARM
T Ni(CO),(g) T FHToT 8T, a1 73 |y 0 -

(1) PCl, = "r=gar sieTi|
(2) PCl, =t |r=sar =]
(3) Cl, T a1 g9 T
(4) CO i |r=zar gu &

freafafaa stfuferan & foaw gfaea s &
T AT BRAY AT SO, T AT arsaEEeT 32
2l

2SO3(g) = Oz(g) + 2SOz(g)

(1) 25% 2) 75%
(3) 50% 4) 12.5%
= o @ i @ formeht it eafershaw pH = -

(1) 0.1 M CH;COOH (K, =107)
(2) 10* M HCI

(3) 102M HCI

(4) 102M H,SO,

fafafaa r g HET FoT T §

(1) S = AT Reiss 9 SRS UHGA
BEIERS IR

(2) ST UGS, HATA el & ¥ 8T &
(3) ST Yo forefa sTaerea @

(4) 298 KW | AX A A H' ARA it T

6.02 x 101 et 2
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84. Bohr's atomic model is applicable for :-

(1) H® (2) He (3) Li"”? (4) Na”

85. How many atom are there in 80 amu of CH, ?

(1) 25 %N, () 25
(3) 5/N4 4) 5
( SECTION-B )

This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts
more than 10 questions, first 10 attempted

L questions will be considered for marking. )

86.  Match column-I with column-II and select the correct

84. R T AT Hiew fopwh fog AF A @

(1) H® (@) He (3) Li"” (4) Na”
85. CH, % 80 amu ¥ fore weToT 2 2

(1) 25xN, (2) 25

(3) 5/Nju 4) 5
( G Ue-B h

@IS T 15 97 81 wameff 37 15 v § A A
Y 10 w2 X Gehar 21 Af qheeff 10 & Aftrem wx
1 I T & A o TR gU I 10 W & A=

=l

(N J

86. TAFY-1 &1 TAFY-I1 U T X 98T 39T k1 ==

EAISIS

answer :-
Column-I Column-IT -1 wWH-1I
(species) (Property) (s Ceree)
() |SO;~ (1) | Planar and polar (P) |SO;~ (1) | EHqe o g
Q) | BrF, (2) | Non planar and polar (Q) | BrF; (2) | FTEwEE qoT gt
®) | IF; () | Planar and nonpolar (R) | IF; (3) | wHdefa qen s
(S) | SO, (4) | Non planar and non polar (S) | SO, (4) | ITEHAES awawgsﬁa
P|Q|R|S P|Q[R|S
(H|4]1]2]3 41123
@4(2]1]3 242 |1]3
@)|3|1(2]4 3|1 |24
@|[3]|1]4]2 4)|3|1]4]2
87.  Shape of CH is: 87. CHYHlaTFde:
(1) Linear (2) Octahedral (1) (2) ITBEHAD
(3) Pentagonal (4) Pyramidal (3) U= (4) TR
| RANK BOOSTER TEST SERIES 09990MD613721006
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88. In which molecule all bonds are =. 88. fmdafrm wgﬁmﬁw n®
(1) H, 2) F, (1) H, (2) F,
(3) By “4) 0O, (3) By “4) 0,
89. Which of the following order of size is 89. 9T W T AT T FIFHT ShH A © 2
incorrect ?
(1) Fe =~ Co =~ Ni (1) Fe ~Co =~ Ni
(2) S?>ClI' >K" (2) S*>ClI'>K"
(3) Sc<Y<La (3) Sc<Y<La
(4) H >Li">Al”>Mg" (4) H >Li" > Al"” > Mg"
90. Consider the following statements : 90. TR cRERHIRT. -
(1) IEl of 'N' atom is more than IEl of 'O" atom (1)NWUEWIE| vovm%mlam—iﬁm%
ii) EA of 'P' is less than EA of 'S' at
(H) © 15. ess than © S.a om (ii) 'P' T EA 'S 5] EA § A 2T 2
(ii1) EN of 'C" in CH, < EN of 'C' in CO, o > Sod
The above statement (i), (ii),(iii) respectively (iif) CH, H'C'shl EN < CO,H C=T EN
are :- (T = True, F = Falsc) SR 2 (i), (i), (i) 57T - (T =6, F = 3760
(1) T,EF 2) T,T,F (1) T,FF 2) T,T,F
(3) T,I,T (4) FTF 3) TT,T (4) FTF
91.  CH,NH,(0.12 mole, pK, =3.3) is added to 0.08 moles | 91.  0.08 i HCl H CH,NH,(0.12 HIeI, pK, = 3.3)
of HCI and the solution is diluted to one litre, pH firemeR foeram &1 AT 1 Sflex s fem )
of resulting solution is :- gfcomdt farerem it pH 2
(1) 10.7 2) 3.6 (1) 10.7 (2) 3.6
3) 104 4) 11.3 (3) 104 4 11.3
92.  Predict which of the following reaction has a 92. fm=fafea & o fora efifrar & fow o
positive entropy change ? gftEd= eHTeHe © 2
(1) Ag'(aq) + Cl'(aq) — AgCl(s) (1) Ag'(aq) + Cl'(aq) — AgCl(s)
(2) NH,CI(s) — NH;(g) + HCI(g) (2) NH,CI(s) — NH;(g) + HCI(g)
(3) Nx(g) +3H,(g) — 2NH;(g) (3) Ny(g) +3H,(g) — 2NH;(g)
(4) None of these 4) 390 U 1 el
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94.

95.

96.

ALLEN
93.

Work done during isothermal irreversible

expansion of 5 mole of an ideal gas from 10

atm to 1 atm at 300 K is :-
(1) -15.921kJ (2) -11.224KkJ

(3) -110.83 kJ (4) None of these

Which of the following is not a state function

of thermodynamic system -
(1) Internal energy(E)

(2) Free energy(G)

(3) Enthalpy(H)

(4) Work(W)

Ferrous oxide crystal exhibit metal defficiency
defect due to :-

(1) Missing of Fe™ ion
(2) Missing of oxide ion
(3) Missing of Fe*? ion

(4) Excess of oxide ion at interstitial space

Rate of a gaseous reaction can also be
expressed as rate of change in partial pressure

of the reactant or product, it's because of :-

(1) Concentration is directly proportional to

volume at constant temperature.

(2) Concentration is inversely proportional to

temperature at constant volume.

(3) Concentration is directly proportional to partial

pressure of species at constant temperature.

94.

95.

96.

5 Hiet SATe! 19 1 300 K W 10 atm ¥ 1 atm @
AT STIEHAI THT o foTQ oy T el a1
T 81 -

(1) -15.921kJ (2) —11.224kJ

(4) T AR T
freafafaa 9 @ Fiar e swmiah Fwr =
T B T 2

(1) 3=k St (E)

(2) HH 3N (G)

(3) TS (H)

(4) = (W)

(3) ~110.83kJ

bw TS #1 fhtee grq =g AW gl
2 -

(1) Fe' ATE o T 8 3 0T
(2) SATFETSES SATI o TF B o IO
(3) Fe' 313 3 IS 14 % 0T

(4) I=ATHEA EHET T HAFES IET 5
AR o T

T rfskar 1 T R a1 3 &
A3 a1 | iadT grr ot gemar S dehar §
FIifh :-

(1) FrRIa QM o |igdr e o €Y gumrdr
Bt 8

(2) Troa AT W AiEAT q9 % oA
Bt 8

(3) o=@ a W wigan, ysfa & Aifyw = &
e o et 2

(4) All of the above (4) SUE Tuft
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97. Which has the greatest mass percent of | 97. ToruH EEEISH &1 goamT gidwTd Gaiferss & 2
hydrogen :-
(1) CH, (1) CH,
(2) C,Hg (2) C,Hq
(3) CHy, (3) CHy,
(4) CsHy, (4) CsHy,
98. The number of gram equivalent of H,SO, in 98. 100 mL 0.001 N H,SO, fae== & H,S0, & 7
100 mL of 0.001 N H,SO, solution is :- qoeh! hl HEATT -
(1) 1072 (1) 1072
(2) 2x107 (2) 2x107
(3) 107 (3) 10
(4) 2x10* (4) 2x10*
99. A standard reduction electrode potentials of four | 99. =R dcal o HHH HU=AT TAF fIva & -
elements are - A=-0250V B=-0.140V
A=-0250V B=-0.140V C=-0126V D=-0402
C=-0.126V D=-0402V I8 T S fF A F 3HE AU & oo 9@
The element that displaces A from its salt solution is Toreyrfug sear 2l
(1) B (1) B
2 C 2 C
3) D 3) D
(4) None of the above 4) T A IS off 7
100. The unit of rate constant of elementary reaction 100. Th EEF‘T%?T srfufsrar o et fFadies EEFIS‘ fadz
depends upon the : HLA & -
(1) Temperature of the reaction (D) SrfyfeRaT a1 W
(2) Concentration of reactant 2) foraTehTah <t |isar W
(3) Activation energy of the reaction 3) BIER RS IR
(4) Molecularity of the reaction 4) rfyfeRa Y Tfoaehar 1T
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SUBJECT : BOTANY

Topic : Diversity in Living World : The living world, Biological Classification, Plant Kingdom, Morphology Of
Flowering Plants, Anatomy Of Flowering Plants, Cell

: The Unit Of Life, Cell Cycle And Cell

Division, Transport in Plants, Mineral Nutrition, Plant Growth and Development, Photosynthesis in Higher

Plants, Respiration in Plants, Enzyme

L

SECTION-A
Attempt All 35 questions

(

TqUE-A
ot 35 w1 Afart §

101. Among the following which can be a common 101. = o @ o eqor gsita ok fsffa g T
feature exhibited by both living and non-living? Y9 U 3911 Ghd 8 2
(1) Growth (1) 3g
(2) Consciousness 2) AT
(3) Metabolism (3) SUY=x
(4) Cellular organisation (4) I FTST
102. ICBNis :- 102. ICBN®:-
(1) International Code of Biological Naming (1) TEEIAA IS IATE TRATATSTR ATHT (FTH)
(2) International Code of  Botanical (2) A HIe Ik aiefee AEaeR
Nomenclature (TR
(3) International Class of  Biological 3) TCETNA FAE 36 SIS
Nomenclature EICEERIN
(4) International Classification of Biological 4) YA FATHI BRI A% STl STohel
Nomenclature EIEEERCHN
103. Diatoms float on the surface of water due to :- 103. THICH SIeT hl Tag X dTd T&d & SERT 0T 2 -
(1) Two flagella (2) Fat (D) 3T FHITHT (2) Tat
(3) Starch (4) Vacuole (3) W (4) Tt
104. Blue green algae produces :- 104. e efed Starer fmfor st @
(1) Endospore (1 W:WTU\IW
(2) Truly branched body (2) ardfaeh IMRad T
(3) Hormogonia (3) BIARTIT
(4) Zoospores 4) HFIEﬁTﬂU\I
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105. Chlorophyll a, c, stored food mannitol and two,

106.

107.

108.

ALLEN

unequal, lateral flagella are the characteristics of:-
(1) Green algae

(2) Brown algae

(3) Red algae

(4) Blue-Green algae

Protonema :-

(1) 1is a stage of gametophytic generation

) is

developes directly from a spore

a creeping, green, branched and

(3) produces lateral bud which forms leafy plant body
(4) All of these

Mention the ploidy level of followings :-
(a) Protonemal cell of moss.

(b) Rhizoidal cell of prothallus.

(c) Leaf cell of moss.

(d) Gemma cell in Marchantia.

(e) Endosperm of Pinus.

(f) Leaf cell of fern.

Options :-

(1) n,2n, n, n, 3n, 2n respectively
(2) 2n,n, n, n, n, 2n respectively
(3) n,n,n,n,n, 2n respectively
(4) n,n, 2n, n, 3n, 2n respectively
Pneumatophores occur in ?

(1) Halophytes

(2) Free-floating hydrophytes

(3) Carnivorous plants

(4) Submerged hydrophytes

105.

106.

107.

108.

FAUHA a, ¢, Giad @RI-AFEA 3T T, TEHH,
areffar wafsra fereen stfiramerfores 22

(1) BE™

(2) a1

(3) AT AT

(4) Fa-gi@ e

T -

(1) FmeRIfag det i svaean )

(2) fomrdffer 7, sfaa & sfiemoy & ffifa Srar 2

(3) T qepet SHTAT @ df afvfet arey SRR STt
2

(4) STE Tuft

vt 261 TfOTerT ST TS -
(a) TG T TSHTHT ShITSTeRT
(b) ST T HATH HIRTH
OREEIRYEINEL

(d) TRSBFTH ST HIRTHT
() TTETE T YOI

(f) & <t Tt shifaTeRT
forped -

(1) ShHRT: n, 2n, n, n, 3n, 2n
(2) SPHRT: 2n,n,n, n,n,2n
(3) RHRM: n,n, n,n, n, 2n
(4) SPHRT: n, n, 2n, n, 3n, 2n
- TR Brell & 2

(1) TR

(2) - FAlEg H
(3) iR uredt §

(4) STATH ARG H

| RANK BOOSTER TEST SERIES

09990MD613721006

Page 28/56

Space for Rough Work / TP cav ks 'i%IT{ Slilg

E + H /27022022



ALLEN

109. Phylloclade is found in 109. TUTTST TqFT YTAT ST -
(1) Opuntia and cactus (1) FrTe-1 IR FFegH
(2) Babool and mango (2) & AR AW H
(3) Fig and bringal (3) SR IF=H
(4) Banana and turmeric (4) hll AL T
110. Parallel venation occurs in :- 110. gmT=R 3 formamer fererdt g 2:-
(1) Liliaceae (2) Solonaceae (1) feaferast (2) i
(3) Malvaceae (4) Fabaceae 3) AqreAAEt 4) TerH
111. In which inflorescence flowers are produced 111. frw qeshH T qsq o o sfyErt ww o
laterally in acropetal order :- T :-
(1) Raecemose (2) Cymose (1) retaTe (2) GEtHTEt
(3) Solitary (4) Cyathium (3) THdA (4) wrEfoRm
112. Synandrous condition is fusion of 112. Wﬂ}l"ﬁ EI?FFIT (Synandrous) 3TaET §, TESH
(1) Filaments only (1) It Iaq
(2) Both filaments and anthers (2) YA o AR T
(3) Anthers only 3) FaeT TR T
(4) Petals (4) Al T
113. Fruit of coconut plant is developed from :- 113. et 1 %t forepfid gt @ -
(1) Perigynous flower (D) qﬂ@rrqvﬁgmﬁ
(2) Superior ovary (2) SeAdt TSI o
(3) Epigynous flower 3) SIBSIDI) EDFSC[@
(4) Bicarpallory ovary (4) Tgeredt s a
114. Starch sheath is found in :- 114. HUE AToSE IRAT ST S :-
(1) Monocot stem (D) Tehe ST O |
(2) Dicot stem 2) IECISECEIRKSER S
(3) Monocot root 3) LETISCEIDES R
(4) Dicot root ORECISLEIRESES e}
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116.

117.
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Which type of vascular bundles are found in

dicot stem ?
(1) Collateral, closed, endarch
(2) Radial, open, diarch

(3) Collateral, open, endarch

(4) Radial, open, exarch

In the given above figure, which of the
following statements are correct about the cell
of labelled region 'A' :-

(A) Suberized cell

(B) Non suberized cell

(C) Parenchymatous cell

(D) Thin walled, rounded & colorless cell

(1) B,C,D 2) A,C,D
(3) A,B,C 4) AC
Cell membrane possess lipid, protein and

carbohydrate. The ratio of protein and lipid varies
considerably in different cell types. In human beings,
the membrane of the RBCs has approximately :-

(1) 40 % lipids and 52 % carbohydrates
(2) 40 % protein and 52 % lipids
(3) 40 % lipids and 52 % proteins

(4) 40 % protein and 52 % carbohydrates

115.

116.

117.

fiefioresft a1 7 T ot B 2-

(1) GraTf¥des, gt 9 o1=q: fearesh
(2) ¥, o, fgemfearesn

(3) Trunl¥des, aeff 7 o1=q: mfearesh
(4) o7, Ff, SR STTiaereH

SR T4 T o | ArifeRd &1 A" ST HIRTRTSAT

% o H HITH Ho el -

(A) Golfeehd iR

(B) TSI hIRTH

(C) JgaehI HITTRT

(D) Wt [T 3o, AT o TR ShITRTH
(1) B,C,D 2) A,C,D

(3) A,B,C 4) A,C

HIRTRT foreett | T, T q7 FHeieEse 8 &
foITSr=T SRR <hT ShITRTeRT & ST oI 9T o SAITT
fi=1-fir=7 19 ®, 7Ma Y RBCs i fereett & o
AR S -

(1) 40 % T TIUT 52 % FIEIEEIE

(2) 40 % T qUT 52 % 4T

(3) 40 % TET AT 52 % T

(4) 40 % I qAT 52 % FHIeEIESe
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118. Which is mismatched? 118. FIET SHA &7
(1) Elaioplast — Store oil or fat (1) ddcideh — S YT FHT T H
(2) Chloroplast — Contain chlorophyll pigments (2) wfderas - quieiH =[uieh Tad @
(3) Amyloplast — Store protein granules (3) HeeTEh — WIS E= T
(4) Leucoplast — Food storage (4) SFeoficTerh — WIeH STErT

119. In plant cells, peroxisomes are associated with: 119. UTEY SHITITeRT T WATHHHT Heiferd 2;
(1) Photosynthesis (1) THRIITEITOTH
(2) Photorespiration (2) Teh1=T FEA g
(3) Photoperiodism 3) Aftrepriorar o
(4) Phototrophism (4) WTQTT@'&?YTT g

120. Identify the following diagram :- 120. = @ M o =t wRE -
(1) Transition to Metaphase (D ﬁ'{rﬁﬁrﬁgﬁﬁm
(2) Transition to Anaphase-II 2) TAThS-11 | @%m:r
(3) Transition to Metaphase-I 3) HIThS-1 ﬁaﬁm
(4) Transition to Anaphase 4 TS | ‘;TF?WF[

121. In which phase of karyokinesis spindle fibers | 121. HRAREATEE T HIAHT e F TN qhdq
attach to both kinetochores of chromosome :- ToTgA EXAE) aﬂsﬁ?ﬁﬁ g E\lﬁ WIS -
(1) Prophase-I (D) ‘El'f&?ﬁ‘ﬂ-l
(2) Metaphase-II (2) HATIEAT-II
(3) Metaphase-I (3) UTEAT-1
(4) Prophase-II (4) qgfa%m-n
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122.  Which of the following is correct for amount of | 122. ﬂﬁﬂﬁ fawre i i saene H g e H @
DNA in different stages of meiosis if amount HH-8 DNA 1 70T o foIe @&t € afd G, green
of DNA in G, phase is 64 Pg? T DNA &I 91T 64 Pg 27
(1) Anaphase-I = 128 Pg, Metaphase-1 = 128 (1) Tl = 128 Pg, HeThel-1 = 128 Pg,
Pg, Metaphase-II = 64 Pg. HIThS-11 = 64 Pg.
(2) G, = 128 Pg, Diakinesis = 256 Pg, (2) G, = 128 Pg, SEHEAE = 256 Pg, HIThsT
Metaphase-1 = 128 Pg -1=128 Pg
(3) Pachytene = 256 Pg, Metaphase-1 = 256 (3) YT = 256 Pg, WeT%S-I = 256 Pg,
Pg, Diplotene = 256 Pg fewed = 256 Pg
(4) S=128Pg, Diakinesis = 256 Pg, (4) S=128 Pg, SEHEAH = 256 Pg, HThsI-
Metaphase-1 = 128 Pg =128 Pg
123. Sulpha drugs kill bacteria by inhibiting | 123. W% 39fY, PABA-(p-UHHISSIEH 7)) o
synthesis of folic acid from PABA (p- BifeTeh 3TFA o TIT0T hl TEfid lh Sffamo el
aminobenzoic acid) This type of control of ORdT 21 I8 GICHTU\I WSHF & =0 &1
bacterial pathogens is an example of :- ANV & -
(1) Non-competitive inhibition (1) rufeasf deua o
(2) Allosteric inhibition (2) TARE HEHT T
(3) Competitive inhibition (3) Sfaeqef dem &
(4) Negative feedback (4) TS B 1
124. At atmospheric pressure a solution has ys = —10, | 124. SRIHUSR e T T foreta 7 yg = ~10 81 59
what is the value of water potential for this solution? [ENREEASIESACEEEIRICER R
(1) Can't be calculated without v, (1) vp 3 ToHT TOT =T S ST T
(2) Water potential =10 (2) S fea=—-10
(3) Water potential of solution at atmospheric 3) W’J HERISCRECICARSCRCR C R CC)
pressure always taken to be zero NG o STaT R
(4) Water potential = 10 4) ERACECES)
125. Maximum plant nodules of Root transfer fixed 125. IferRisT dqul i q o RIS T &aﬁ?ﬁf N,
N, as :- fore &9 § T BT -
(1) Amides (2) Uredes (1) IHEe 2) IS
(3) Nitrite (4) Nitrate (3) A1RdIRe 4) 4 322
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126. Why is the absorption spectrum of Chl a and the 126. Chl a T FINTO Fﬁ?{q TAT TehTST TITOT T
action spectrum of photosynthesis identical? E2I] @R‘qﬂ'ﬂlﬁ FIT BN 22
(1) Chl a have maximum absorption of blue (1) Chl a afererier fid 9 AT TR W
and red light in which plants shows JINYT At 8l & W Uy SAfrenay
maximum photosynthesis TSN ST LT 2
(2) Chl a reflects blue light (2) Chl a et TehTT AT TETdd LT 2
(3) Accessory pigment contribute energy to 3) Sl o ANTSH T SATAYI J0Teh TehTIT HIH0T
drive photosynthesis Fd 2
(4) Different wavelength of light have different energies (4) ehTeT Sl farfi=T qimee it Heit firT Bt Bl
127. Which of the following is incorrect regarding 127. 907 o & T TehTeT EegNor it Sfeeh i SAffRar
dark reaction of photosynthesis ? FHcd A T 2 2
(1) 1t is not directly light driven (1) T8 IcTeT &Y Y T 5 STford el 2l
(2) It is dependent upon the products of light (2) I°® ehTiSTeR ATERaT & Icurel WAt et
reaction 2
(3) It synthesise ATP and reducing power (3) I8 ATP TUT AUk 3fF NADPH T
NADPH fomfor et 21
(4) Reduction of CO, occur (4) CO, T AY=IT qaTe
128. Which of the following steps during glycolysis 128. SRR & T o @ FEE =N F SRH
is associated with utilisation of ATP ? ATP =T ST BT 8 2
(1) Glucose — Glucose-6-phosphate (1) IS — lcd‘_\chlvl-6-q57'{:av_¢'
(2)  Fructose-6-phosphate — Fructose-1,6-bisphosphate (2) WhHIN-6-BEHE — TheRIST- 1,6-S3HEHRE
(3) PEP — Pyruvic acid (3) PEP — UTI&[deh 3TFd
(4) 1and 2 both (4) 172 gt
129. How many molecules of CO, are released in 129. &% THIEEA Co-A avgéa%qamaeﬁfr CO,
Krebs cycle per Acetyl Co-A molecule ? & foha Sl ﬁﬂ?ﬁ AR ?
(1) Two (1) &
(2) Three (2) o=
(3) Four (3) @)
(4) Six “4) o
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130. Respiratory climatic associated with: 130. T FATSHISH Hefel ST g1 2
(1) Auxin (2) Cytokinin (1) At Fary (2) ATEIHEHT S a1
(3) Ethylene (4) Gibberellin (3) A FAYS  (4) Neaie=F oy
131. Market value of fruits increase by the use of :- 131. %l & IS ey Ea) dgH T ST BT & :-
(1) Auxins (2) Gibberellins (1) AR ) Sesfa=a
(3) Cytokinins (4) ABA (3) USRI (4) ABA
132. Which of the following assumptions is not 132. SifelleRd 8 amel Hﬁiﬁmjﬁﬁ 3T % I T
required for the calculation of net gain of ATP Y J IITe T AT A % ot fe aftemedarett
for every glucose molecule oxidised? T o foraehl sTTarvarehar el § 2
(1) There is a sequential orderly pathway (1) Y99 IRE T shAag 9o foramefiet 2ram @
functioning with one substrate forming the fSreH weh fohamerm stTel o1 fmtor st ST
next during the respiration 2
(2) Few intermediates of pathway are utilised (2) A H @W, 1= ANfATRT & TN H
to synthesise other compounds EERIRETES IR
(3) NADH synthesised in glycolysis are 3) TATERITATTH § o aTe
transfered to the mitochondria NADH, # silaﬁvliﬁ%l T T & STd 2
(4) Only glucose is being respired, no other (4) Tqaq T Shae ’Flfﬁﬁ T SYFIT BT 2, IS
alternative substrates are entering in the pathway 7= farhed} fopameme aer o yarer 7€ &t )
133. Four potted plants (A, B, C and D) of a short day | 133. ThH3IFITEHTAHARA, B, C U6l DTHAH il g U
plant, which has the critical period of 13 hours are foru fSehl shifcrh 3Tafer 13 O 21 U 3 STeRT 3TerT
taken and exposed to light for different time periods. TefT T e Tt o o TR weRTeT STafRn Rt e T
The light periods given are listed in the table =T
Potted plant | Photo period e TRRT IR
A 10 hrs A 10 hrs
B 15 hrs B 15 hrs
C 16 hrs C 16 hrs
D 20 hrs D 20 hrs
which potted plant will show flowering after
pUIeE P s e T ST Y TeIT SR & STETH 3] O ] GRTTRTT 2
exposure to light ? >
(H A (2) B 3 C 4 D (H A (2) B 3 C 4 D
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134. Match the following respiratory substrates with 134. = got Tramam & Sa% 9o TTW & oy
their RQ and choose correct option :- T & -
(A) Tripalmitin (i) Zero (A) ZrguTtfes () T
(B) Glucose (ii) 4 (B) IS (ii) 4
(C) Oxalic acid (iii) 1 (C) HATFafeTh e (iif) 1
(D) Succulent plant (iv) 0.7 (D) W@'{ﬁ? e (iv) 0.7
Options :- fore -
(1) A(), B(iii), C(ii), D(iv) (1) A(), B(iii), C(ii), D(ii)
) A(), B(ii), C(iii), D(iv) ) A(), B(ii), C(iii), D(iv)
(3) A(iv), B(iii), C(i), D(ii) (3) A(iv), B(iii), C(i), D(ii)
(4) A(iv), B(ii1), C(i1), D(i) (4) A(iv), B(iii), C(ii), D(i)
135. Match column'A' & 'B' :- 135. w@m7'A' T 'B' T e & -
Column - A Column - B Y- A - B
i | Pyruvate dehydrogenase | a | Glycolysis i | e e | a | eI
. Partial break down of . Matrix ) @a &7 W@Wﬁ%{?ﬂ
glucose of mitochondria u S S — b £ st
iii | Kreb's cycle ¢ | Link reaction i WW . %EF N —
Inner -
iv | ETS d | membrane  of iv |33 d )
i 3 foreett
mitochondria
(1) (i)-a, (ii)-b, (iii)-c, (iv)-d (1) (i)-a, (ii)-b, (iii)-c, (iv)-d
(2) (i)-b, (i1)-c, (iii)-d, (iv)-a (2) (i)-b, (i1)-c, (iii)-d, (iv)-a
(3) (i)-c, (ii)-a, (iii)-b, (iv)-d (3) (i)-c, (ii)-a, (iii)-b, (iv)-d
(4) (i)-d, (ii)-a, (iii)-b, (iv)-c (4) (i)-d, (ii)-a, (iii)-b, (iv)-c
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SECTION-B )
This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts
more than 10 questions, first 10 attempted

L questions will be considered for marking. )

136. In natural classification more weightage is
given to floral characters as compared to

vegetative characters, because of :-

(1) Easily observable

(2) More conservative

(3) Due to presence of colour and fragnance

(4) Due to great economic value

137. Which pair of the following belongs to
ascomycetes ?

(1) Puff balls and morels

(2) Mushrooms and shelf fungi

(3) Morels and truffles

(4) Mushrooms and toad stool

138.  Which of the following is correctly matched ?

Character Example
(1) Motile gametes Phycomycetes
2) Dioecious Chara
3) Ascocarp Claviceps
4) Mad cow disecase Viroids

( T©E-B h

@IS T 15 ¥ 81 wameff 37 15 v § A A
oY 10 w2 X Gehar 21 Af qheeff 10 & Aftrem wx
1 I AT & A1 o TR gU I 10 I & A=

=il

(S J

136. Wipfaer aiffertor § =iy @&on i qor A
T AETOT i S Heedl fGAT STl &, aiifen
9 -

(1) AEH & W T HFd 2

(2) ferens wTfrd g 2

(3) G Ud Ty i Jufkefa & wror
(4) Tcaferes fde Teed o HRUT

137. F# § @ HE 3 CERE S § et
7

(1) U% STeT T AT

(2) HNTEH TS T HolTg

(3) A T g

(4) TIEH T T[S TA
138, fefcriiad @ & @&t gaferd i ve= 2
Character

Example

I TSRSt
(2) | weRlcTrERe | @#RT

(3) | Tt
(4) | HE 1% U | A1slise

(1) | =t T
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139.

140.

141.

ALLEN
139. UTeUl | foehta & ATSEao ohl afsfa foram g -

Milestones in the evolution of plants are shown :-

IV

11

Land invasion

I 11
IV
II
Vascular system Vascular system
A (e T9)
Land invasion
(Terefiar HehTeon)

I
L, I1, IIT and IV indicate respectively :-

(1) I= Green algae, Il = Bryophytes,
III = Pteridophytes, IV = Gymnosperm

(2) I=Protozoa, Il = Lichens, III = Mosses,
IV = Gymnosperm

(3) I="Protist, Il = Algae, III = Mosses,
IV = Gymnosperm

4) I=Protist, I = Green algae, III = Pteridophytes,
IV = Mosses

Axis of inflorescence is :-

(1) Pedicel

(3) Petiole

Select the incorrect statements :-

(1) Monocot seeds are endospermic but in

orchids are non endospermic

(2) Drupe fruits developes from monocarpellary

& superior ovary.

(3) Epitepalous condition is found in

solanaaceae family.

(4) In a pinnately compound leaf a number of

leaf lets are present on a common axis.

I
I, 1, TTT T IV $h9T: foreent TeRfd s @ 2 -

(1) 1=IETAC I = SEHEEE, 1] = EHEeT,
IV = oy

(2) 1= arsiae, 11 = drgeh-d, 111 = |4,
v = fSereds

(3)1 = wfeze, 11 = Aa1a, 111 = #r4,
IV = [earedyg

(4) 1=wMEe, Il = T am, 11 = REwEed,
IV =41"

140. IS9SHH ST ST SR & :-

(2) Peduncle (1) q9a-d (2) geTEg
(4) Node (3) wuig=a (4) wdafe
141. 3THT HAT T =IT HL -

(1) T soElt ofis oo g & Sfed sTfhe
o TS B 2

(2) TEA BT THIUSHT TUT Jedad! VST &
forenfera grar 21
(3) TTGe T TeE FiciEt e § urft et 21

(4) TresmR ¥y il § 9gd ¥ T T o
378 T o B B
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142. Meristem which is found in grasses and

143.

144.

145.

regenerates the parts removed by the grazing

animals :-

(1) Apical meristem
(2) Intercalary meristem
(3) Lateral meristem

(4) Secondary meristem

Companion cells are closely associated with :-
(1) Sieve elements

(2) Vessel elements

(3) Trichrome

(4) Tracheids

How many chromosomes will the cell have in G,
phase, in metaphase and after M phase respectively,

if it has 26 chromosome at G, phase ?
(1) 26,26,13

(2) 13,26,13

(3) 26,26,26

(4) 13,13,13

Crossing over takes place between :
(1) Two sister chromatids

(2) Two non sister chromatids

(3) Three homologous chromosomes

(4) Three non homologous chromosome

142. fovsaraes st fo omel § 2 @ qeT R g

143.

144.

145.

QY T R YASATTrd o &
(1) sfdeer favsanas

(2) SAaaei fervsaas
(3) urd fassaas

(4) Toctash fasrsarden

TEHIITRT foheT HITITRTST o AT Tl Tadl 2 -
(1) =Tt Aqaq

(2) afeeRT =T

(3) AT IW

(4) anfRheERT

afe HIRTHT H G, ITaEAT § UG h1 §E&AT 26 §
G, ATEAT U, HEATTEAT H q°qT M T &
T SHHRT: ORI oh1 ST ferart 8t 2

(1) 26,26, 13

(2) 13,26, 13

(3) 26,26,26

4) 13,13, 13

StH-fafe foraes s amar e
(1) o faermmfis s

(2) a1 T farr e &
(3) T EHSIT O 6

(4) T STEHSTT TG

| RANK BOOSTER TEST SERIES

09990MD613721006

Page 38/56

Space for Rough Work / Y cav ks 'i%IT{ Slilg

E + H /27022022



146.

147.

148.

149.

150.
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In a diploid cell after S-phase quantity of DNA
is 80 Pg (Picogram) then after Meiosis-II
situation will be in each daughter nucleus.

(1) Diploid, 40 pg DNA

(2) Diploid, 20 pg DNA

(3) Haploid, 40 pg DNA

(4) Haploid, 20 pg DNA

The stress hormone is (in plant)

(1) Ethephon

(2) Carotenoid derivative

(3) Terpene derivative

(4) Adenine derivative

The TCA-Cycle starts with the :

(1) Formation of pyruvate

(2) Condensation of CO, with RuBP

(3) Isomerisation of citrate

(4) Condensation of acetyl group with OAA

How many molecule of ATP is consumed in

regeneration of RuBP in one C; Cycle :-
(1) 6 ATP (2) 1ATP

(3) 3 ATP (4) 12 ATP

Product (s) of Z-scheme which is/are utilise in

Calvin cycle, is/are :-
(1) Only ATP

(2) ATP,NADPH & O,
(3) ATP & NADPH

(4) Only O,

146.

147.

148.

149.

150.

T feTford Shif¥TeRt  S-37aE % 9&Td DNA s
a1 80 Pg (fyerim) ® o FrRfE-11 o ggrq
STeuh AT ks W Rt g

(1) &Iford, 40 pg DNA

(2) ferford, 20 pg DNA

(3) TMIE, 40 pg DNA

(4) MMM, 20 pg DNA

ATl BT & (9769 H) -

(1) 3H

(2) FfEATES T

(3) A =g~

(4) TfSHE g

TCA-=15F T YT B & -

(1) vIEae & fmior & g

(2) CO, % RuBP & 1Y T &

(3) Tage & guraisRtor & e

(4) TEfed T % OAA & 1Y o &

U shicad =sh § RuBP o [&ewWad &q fohad

ATP sl STI9IHdT BT & :-
(1) 6 ATP (2) 1 ATP

(3) 3 ATP

Z-TH 1/ IS 1T Shiea <Ish H SUINT 2T 8/
T8, B/ -

(1) &t ATP

(2) ATP, NADPH T O,

(4) 12 ATP

(3) ATP W& NADPH
(4) FFA0,

| RANK BOOSTER TEST SERIES

09990MD613721006

E + H /27022022

Space for Rough Work / TP cav ks 'i%IT{ Slilg

Page 39/56



ALLEN
SUBJECT : ZOOLOGY

Topic : Animal Kingdom, Cockroach, Earthworm, Frog, Neural Control And Co-ordination(Nervous System,
Sensory Organs), Structural Organisation in Animals (Animal Tissue), Locomotion And Movement (Muscles,
Skeletal System), Breathing And Exchange Of Gases (Respiratory System), Body Fluids And Circulation

(Circulatory System), Digestion And Absorption (Digestive System), Excretory Products And Their Elimination
(Excretory System)

SECTION-A g re-A
L Attempt All 35 questions J [ ¥t 35 9 faE § }
151. In contrast to annelids the platyhelminthes show :- 151. uHiferer & faudia widRfcefs gemiar @ :-
(1) Radial symmetry (1) 3= gufufd
(2) Presence of pseudocoel 2) ag-ug@aﬁzqﬁaﬁ
(3) Bilateral symmetry (3) fg-urd wwfafa
(4) Absence of body cavity 4) é%’;I%T‘Oﬁf 3‘@1&91'&[
152. Bath sponge is common name of : 152. €M 1 TS AT 9 &
(1) Euspongia (D) EZ\FQ:)'/'\WWT‘GI'T[
(2) Spongilla (2) TifTaT st
(3) Euplectella 3) WFITW
(4) Cliona (4) FASTATHT
153. Nematoblast are absent in :- 153. 3T HIMTHT AT At © -
(1) Sea - gooseberries (1) agaﬁgaéﬁ
(2) Comb - jellies (2) FTh St
(3) Sea - walnut 3) H’EI}"T I
(4) All above (4) SUH Tuft
154. Aschelminthes are called roundworms because :- 154. UEhfcwefist yTfor =t TcTRHT T haT ST & 2
(1) Their body is round like ball (1) ST IR Sict Y & Tt BT B
(2) Their body is circular in cross section 2) STTIEY =1 H MR B 2
(3) Their larvae are round in shape 3) 3o AT TR § TieT 81 &l
(4) All of the above (4) SUE Tuft
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155. Examine the animals shown in the figures A, 155. ﬁ%%ﬁﬁmﬁnﬁ@@ﬁ A, B, CTd D &1 2flgd
B, C and D and mark the characterstic found in Te 39 Gft § 9T ST STet T80T Shi ﬂﬁ'ﬁ?
all of them? " 3
(D]
(1) Jointed appendages and wings (1) E’f?ﬁ'ﬂ?ﬁw LCReIC)
(2) Respiration by tracheal system (2) ?.:{'[%F?:IFT RER-ACUREE)
(3) Chitinous exoskeleton and jointed appendages (3) ST AT Shebre T Eﬁ'ﬂ?ﬁ 3T
(4) Body divisible into cephalothorax and abdomen (4) IR A TIrrerer wd 3T | forvrer
156. Excretory organ of Balanoglossus is :- 156. FATITTIGE % IcdSI AT -
(1) Protonephridia  (2) Supraneural gland (1) WeAfefeaT (2) Wl‘lﬁq
(3) Solenocytes (4) Proboscis gland 3) @@W 4) SIEIGEERIE)
157. Petromyzonis a :- 157. U2IHEIAUH R -
(1) Jawed vertebrate (1) SiserIh FHIEhT
(2) Jawless vertebrate (2) ST Tf&a e
(3) Invertebrate (3) STHIEHT
(4) Protochordate 4) TieIhied
158. Shark, Torpedo and Trygon are fishes and 158. Imeh, ZRfISt e 273 7 nefaar araferd
belong to class :- 2 -
(1) Cyclostomata (D) TTZFATESHST o o
(2) Chondrichthyes (2) whifegiorem ot @
(3) Osteichthyes (3) i@ty
(4) Teleostomi 4) Jetreed o
159. "Limbless amphibian" is - 159. “urafaeE Tftmiemm 8-
(1) Salamandra (2) Bufo (1) Geardvgr 2) FH
(3) Ichthyophis (4) Hyla (3) sfFmEIfeg (4) e
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160. Identify the animals given in figure A, B, C and D 160. f A, B, CaarDH fiy TY Tv@ﬁ EIREENED]
(B) © (D) (A) ®) © D)
(1) A- Pila, B - Sycon, C - Ascaris, D - Tapeworm 1 A- UB@T@QT),B- GrEh,C - WET,D- ’ﬁ?ﬂ?ﬂ%
(2) A - Ascaris, B - Tapeworm, C - Sycon, D - Pila 2) A-U@REB- 'ﬁﬁ@hﬁ{ C - Gl5#MH, D - 95l
(3) A - Tapeworm, B - Ascaris, C - Pila, D - Sycon 3) A- ‘ﬁ?ﬂ?ﬂcf{ B- Q@ﬂ%’x’—'ﬁ C -973eTT, D - Gishi7
(4) A - Sycon,B - Pila, C - Ascaris, D - Tapeworm (4) A - GrEhiH, B - 973eT7, C - USRE, D - ‘ﬁﬁ@hﬁ?
161. Which of the following epithelium helps in 161. =1 O & Fiaet Iuehar foaeror X fedes o uee
filtration and diffusion ? FIAT B 2
(1) Simple squamous epithelium (1) T ITcohl ITHT
(2) Compound cuboidal epithelium (2) | FATRI ST
(3) Compound columnar epithelium 3) Hﬂ?ﬁwm
(4) Pseudostratified epithelium 4) ‘f&%‘dﬁﬁ JYhcdT
162. Excess of nutrients is stored in :- 162. Ue ygref Afe fershar o &1 Y kT TUE BT § -
(1) areolar connective tissue (1) I TS Socteh |
(2) adipose connective tissue 2) T TS Haes |
(3) Blood (3) U
(4) fibrous connective tissue 4) T TSt s |
163. Tendons and ligaments are examples of :- 163. mww@ﬁm%m T
(1) Loose connective tissue (D) frforet/er=fier gt S
(2) Dense regular connective tissue (2) 991 Frafia ot o
(3) Dense irregular connective tissue (3) T AFftT ISt Sh
(4) Specialised connective tissue (4) Tofrfesha darsht sas
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164. Mast cells secrete - 164. HTEE HIITHTST & Fa0T BT & -
(1) Hippurin (2) Myoglobin (1) Tevegfer = (2) HRICAIfeH T
(3) Histamine (4) Hemoglobin (3) e (4) SuTarte 1
165. Connective tissues are derived from embryonic 165. TATST Haw &1 Fator frg ?;TﬁTH T o Brar
layer : H
(1) Ectoderm (2) Endoderm (D) EIGEL (2) 3d =
(3) Both(1)and (2) (4) Mesoderm (3) (1) (2)gAt (4) He=
166. Ciliated columnar epithelial cells in humans are 166. W&WWWWWﬁW T
known to occur in :- I DS I
(1) Fallopian tube and urethra (1) fEsrenfert s momm
(2) Trachea and stomach 2) éﬁwqa STHRT
(3) Ducts of glands and bronchioles 3) Tt ot afefat aer gafen
(4) Bronchioles and fallopian tube (4) gafe ud féaartet
167. Select the correct sequence of organs in the | 167. Ticiag S HEHAT H q@ ¥ AW F M %
alimentary canal of cockroach starting from mouth: EliecEEIRCPERR
(1) Pharynx — Oesophagus — Crop — (1) T&t — AfEs - I — ot — Sferem
Gizzard —» Ileum — Colon — Rectum —> I — FeH
(2) Pharynx — Oesophagus — Gizzard — ) & — Tt — Yot — I — 3feraw
Crop — Ileum — Colon — Rectum — AT — A
(3) Pharynx — Oesophagus — Gizzard — (3) Tt — Tt — uyoft — gforEm — I
Ileum —  Crop — Colon — Rectum —FHIAT — FH
(4) Pharynx — Oesophagus — Ileum — Crop 4) &t — e — 3foPm — I — Nl
— Gizzard — Colon — Rectum —THIAT — TFH
168. Main character for the distinction between 168. 9T I AIET HikUT hl TgATT &l AT 8T
male and female cockroach : 2 -
(1) Antennae (D) Ui
(2) Mandibles (2) Afresew
(3) Anal cerci (3) TaH
(4) Anal style (4) TTE iR
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171.

172.
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Identify the correct position of testis in the
abdomen of cockroach:

(1) 3rd ,4th and 5th segments

(2) 4th ,5th and 6th segments

(3) 5th,6th and 7th segments

(4) 6th ,7th and 8th segments

In earthworm clitellar segments are
(1) 10,11,12" segment

(2) 11,12,13" segment

(3) 12, 13,14™ segment

(4) 14, 15,16™ segment

In the given list how many hormones are included
in steroid hormones?

Insulin, cortisol, estrogen, glucagon, progesterone.
(1) Five
(2) Four
(3) Two
(4) Three

Response of which hormone is immediate but
short lived ?

(a) Aldosterone (b) LH (c) FSH
(1) aandb (2) Onlya
(3) Onlyb (4) bandc

Parathormone is secreted during :-
(1) Increased blood calcium level
(2) Decreased blood calcium level
(3) Increased blood sugar level

(4) Decreased blood sugar level

169.

170.

171.

172.

173.

foaes & 3R & oo K wd Rufa @i
TE ST -

(1) 3rd, 4th TQT 5th @€
(2) 4th ,5th T 6th WS
(3) 5th ,6th TAT 7th WUE
(4) 6th ,7th 74T 8th TUE
U o TR @S 2 -
(1) 10,11,12 9f @vg
(2) 11,12,13 9f @vs
(3) 12, 13,14 af @vg
(4) 14, 15,16 At @vg

& T gt & fopa s Wiise g § afnferd
BA g ?

(1) ui
(2) =1
(3) &
(4)

fohe BMIA &1 9E qd W] AT

ECIEES

(a) TERETT  (b) TA.TH.  (c) UH.TH.TH,
(1) ad@dTh (2) FaAa

(3) A b (4) baAc
STATHI ST BITS0T BIelT & ST :-

(1) T § Shfcrm o & 31feres grar @
(2) T 0 Hfeeam w1 &R e gar e
(3) T § ITAT o &T JTTRAeh Bl @
(4) T T 1T T &AL A BT 2

| RANK BOOSTER TEST SERIES

09990MD613721006

Page 44/56

Space for Rough Work / TP cavky 'i%IT{ Slilg

E + H/ 27022022



174.

175.

176.
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Cushing’s syndrome and myxoedema are

associated with these glands respectively :-
(1) Thyroid, adrenal

(2) Adrenal, thyroid

(3) Parathyroid, thyroid

(4) Adrenal, pituitary

Afferent nerve fibre conduct impulse from :-
(A) Towards the CNS

(B) Away from the CNS

(C) Towards the organ

(D) Away from the organ

Choose the correct option :-

(1) A&C

2) B&C

3) A&D

(4) B&D

Carefully look at the diagram given below and

identify the structures marked as A,B,C :-

(1) A-Synaptic cleft, B-Synapse, C—Neurofibril

(2) A-Synaptic vesicles, B-Synaptic cleft,
C—Neurofibril

(3) A-Synaptic vesicles, B-Synaptic cleft,
C—Receptors

(4) A-Synaptic vesicles, B-Synaptic knob, C—Axon

174.

175.

176.

FRIT frgm o frarmifenT s dafad @ -

(1) 9PRIEE T TgHA Ui &

(2) TEHSA F ITIES Ul o

(3) UIPRIEES T ARIES T &
ORSESERiECPIRE

TS ThreRT I STToT hl Haid L @ -
(A) CNS &I T

(B) CNSHF

(C) 3T &l TH

(D) 3T & gL
g2 forehed o1 T -

(1) A&C
2) B&C
(3) A&D
4) B&D

faw U fomr 1 earEsh 9@ 9 AHifeRd TSt
A,B T C &l Ug9H :-

(1)
)

(3) A-Refes gt , B R quCoel

(4) A-ffies gfesrt | B-fifies i,
Cdfrehrer
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177.

178.

179.

180.

ALLEN

Match the column I with column IT :-

Column I Column IT
A. | Medulla oblongata | i | Thermoregulation
B. | Mid brain ii Respiralory &
cardiovascular reflex
C. | Hypothalamus iii | Olfaction
D. | Limbic system iv | Auditory reflex

(1) A-(iv), B-(iii), C-(ii), D-(i)
(2) A-(iv), B-(ii), C-(iii), D-(i)
(3) A-(ii), B-(iv), C-(i), D-(iii)
(4) A-(i), B-(ii), C-(iii), D-(iv)
Find out the incorrect statement :-

(1) Locomotion requires a perfect coordinated
activity of muscular, nervous and skeletal system

(2) Passage of ova through the female reproductive
tract is also facilitated by the ciliary movement

(3) All movements are locomotions but all
locomotions are not movements

(4) Macrophages and lecuocytes in blood
exhibit amoeboid movement

Which protein absent in thin filaments ?
(1) Actin
(3) Myosin

(2) Troponin
(4) Tropomyosin

Find out the correct statement with respect to
muscular and skeletal system :-

(1) Myasthenia gravis — Autoimmune disorder.

(2) Gout — Inflammation of joints due to
deposition of uric acid.

(3) Osteoporosis — Decrease in bone mass and

177.

178.

179.

180.

T [ T Shrerd 11 & Toremay -
W [ HIAH I
A. | Tl AlSANTT | i | AToE Fer
B. | Hex nfss ii ﬁaﬁ?ﬁm
C. | T iii | Bmor
D. | faftsre o= iv | ror gfcad

(1) A-(iv), B=(iii), C~(ii), D-(i)
(2) A-(iv), B=(ii), C-(iii), D-(i)
(3) A-(ii), B-(iv), C-(i), D-(iii)
(4) A-(i), B=(ii), C-(iii), D-(iv)

TTeTd S hl T :-

(1) = & foe e @ f usfig, dffg
I T T T U1 &

(2) HIGT ST AT § B SuSToHAT A1 e
AT TR 3 FHROT R AT R

(3) @+t wfcat =t @ wiq avfl = it T8
H

(4) T ¥ geaweft ue e sisf i g
H

Tt Q3T H HIET S ST ST 8 2

(1) e (2) gt

(3) HrETE (4) ARG

Ui 3T Shehlet oof o Heiel § T FIT R :-

(1) e Afer - TawfaTer T

(2) TSE - IR TR o STHTE o6 HIOT Hferl
JaTgl

(3) ARG (e GIwaT) - 37 o6 @1y e

higher chance of fracture with advancing age. RH SR} T ST %Rﬁﬁwa@aﬁ%él
(4) All of the above are correct. (4) SIE @l w2
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181.

182.

183.

ALLEN

Which type of joint is present between carpal
and metacarpal of thumb :-

(1) Ball and Socket

(2) Pivot joint

(3) Saddle joint

(4) Hinge joint

Which statement is incorrect about smooth muscles ?
(A) Muscle fibre is unbranched and spindle shape.
(B) Sarcoplasmic reticulum is not well developed.

(C) Myofibrils are arranged in bundle form.
(D) Contraction period is longer than skeletal muscle.

(1) BandC

(2) Only C

(3) Only D

(4) Cand D

Good vision depends on adequate intake of carotene
rich food :

Select the best option from the following statements :
(a) Vitamin A derivatives are formed from carotene
(b) The photopigments are embedded in the
membrane discs of the inner segment

(c) Retinal is a derivative of Vitamin A

(d) Retinal is a light absorbing part of all the visual
photopigments

Options :

(1) (a), (c) and (d)

(2) (a)and (c) only

(3) (b), (c) and (d)
(4) (a) and (b) only

181.

182.

183.

IS o TS qAT HeT U o el fohdl TohTX ol
Tifer qrft STt R -

(1) ST TS TR

(2) gty

(3) dgadfy

(4) eI G

7T (A-D) T A1 e Terft ofsmn & T o wdt
/g2

(A) Ot ] TR I e TR b BT 2

(B) BT AT SHa e SATaT folehteid el &l

(C) AT Esict Siget o &9 H Hafted 2l 2

(D) Hie Tafer shenrett URft ohl ot o Afreh el 2
(1) BwWC

2) fakc

(3) %D

(4) CWD

3= g8, UL S el yarel| o wte SHagor
Wt g

1 o waiferd e o1 =9 i

(a) A & foreTfir A & a1 o €

(b) TRV TR T i ferfoctent fora § 1
TUE 2

(c) Tt et A 1 T 2

(d) teer auft gfy yenreraofent =1 yeprer Sraramet
qAT R

R

(1) (a), (¢) T (d)
(2) F9A (a) T (c)
(3) (b). (c) T (d)
(4) A (a) T (b)
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ALLEN

184. The structure which opens in the nasopharynx that
permits air pressure on both sides of tympanic
membrane of the ear to be kept equal is :-

(1) Oval window
(2) Tube of cochlea
(3) Auditory nerve
(4) Eustachian tube

185. The space found between duramater and
arachnoid mater is_(A)__space and between
arachnoid mater & piamater_(B)_space.

Which of the following is right option for A
and B:-

A B

1 | Subdural Subarachnoid

2 | Subarachnoid Subdural

3 | Epidural Subarachnoid

4 | Subarachnoid Epidural

SECTION-B )

This section will have 15 questions. Candidate
can choose to attempt any 10 question out of
these 15 questions. In case if candidate attempts

184. rT-TEt H Qo el 98 wEAT S fh e
Tt o ST ST TR T AH ST Tt & -
(1) 3vgR faght
(2) hifereraR Al
(3) ST dteRt
(4) FEfora Afctart

185. &I S g@ dTi-eh! qAT HESITAATHT o HEF TS
STt § FEATd 8@ _(A)_ Ud TSI Tet
TR 3 T U1 S ATt a7 _(B). Faad 8
ST § EE forehed 1 A L, ST A q°1 B H
el e gn-

A B

I CER HEISTAATRT
2 | AASTAART | FTSILA
3 | wdggt TSR
4 | FAASTAART | TSR

4 )

TG T 15 TF 81 wameff 37 15 7 7 4 A
Y 10 T2 X Hehar 21 IfS Thvemeff 10 ¥ Aftem wx
T I 3T @ A B 6 U IO 10 ¥ & W

more than 10 questions, first 10 attempted Ul
questions will be considered for marking.
- J _ J
186. Identify the birds from the following which cannot fly - | 186. et & & wafiari abt wg=nfe S 3¢ 7 ©ehd 2 :-
(i) Neophron (i) Aptenodytes () [T (i) TetrerEets
(iii) Psitacula ~ (iv) Apteryx (iti) fergerr (iv) TRRFT
(v) Struthio (v) ot
(1) i,ii, iv, v (2) iii, iv, v (1) i,ii, iv, v (2) iii, iv, v
(3) ii,iv, Vv (4) i,iv,v (3) ii,iv,Vv (4) i,iv,v
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187.

ALLEN
187.  Trerq firer weenf -

Identify incorrect match :-

188.  Consider the following statements :-

189.

(A) Protochordates are exclusively marine

(B) In cephalochordates, notochord extends
from head to tail region

(C) In urochordates, notochord is present only

in larval tail

Scientific name Common name EEIEEX L qH T
(1) | Chameleon Tree lizard (1) | Faferia & IGRETS]]
(2) | Calotes Garden lizard 2) FATCHT T ST fedehed!
(3) | Chelone Turtle Q3) | fFe A
(4) | Bangarus Cobra 4 FIRGT EacK

188. fymferRad e sh sTeaaT shifsr -

(A) TEIRTEH quTaaT s 21 2

(B) Shcirehieer § gutss] for & 4w qoh qrft STt
2

(C) FUHIS | YBTSS] et oATal hl U | it
STt 21

(D) Cranium and vertebral column are bony in (D) FIEFACIHE & FT T HEEE It Xt
cyclostomata e

Which of the above statement is/are correct ? ST 5 & T oAl 1 9ifed 7

(1) Only A (1) %A

(2) B,CandD (2) B,C3RD

(3) A,Band C (3) A, B3R C

(4) All of these (4) 3T ot

Junction help to stop substances from leaking

across a tissue is :

189.

gftr S geref sl Faew ¥ el fFehad 9 Uehdl
2

(1) Interdigitation (1) FRRE EIENET

(2) Gap junction (2) Sauet w@fer

(3) Tight junction (3) T Efy

(4) Adhering junction (4) e fer
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ALLEN
190. =t Sict €SI e shT SRITTERTHAT o &I o T

190. Given below the various characters of cells of

191.

192.

loose connective tissue :

(i) Largest & most numerous cells
(i1) Having cytoplasmic processes
(ii1) Forms matrix & fibres

Above character are of :-

(1) Macrophages

(2) Mast cells

(3) Fibroblast cell

(4) Mesenchymal cells

In cockroach, head is formed by the fusion of

............ segments.

(1) Four
(2) Five
(3) Six

(4) Three
The "erythropoietin" hormone regulates :-

(1) Body temprature
(2) Water level of blood
(3) Glucose level of blood

(4) Rate of formation of red blood cells

192.

=

(i) T8 ISt T G111 TEAT o hITITHTT
(ii) RIS Y I ST 2

(iii) Ao & et 1 Fmfor et 21
YU AL & :-

(1) BshitaIS
(2) HRE HITHIST &
(3) d=q I HIRTRIST &

(4) HOTHTEH FHIITRIST &
FRua H, T et o e 4 s ar ®

(1) =X
(2) =
3) ®:

(4) =
(1) e amashy

(2) R A 9 AT
(3) W4T H TSt T &R

(4) AT H o Fmtor i &t
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ALLEN

193. Which of the following is correct :- 193. = o & siar wel 2-
(A) Hypercalcemic hormone is thyrocalcitonin (A) JTIUhHI T SAfIehlcT=|  ThaT g
(TCT) FHEATT 2
(B) Parathyroid hormone (PTH) increases the (B) FUYUTRIEE T T § HicI&m TRl TerdT
Ca™ levels in the blood H
(C) Thymosins play a major role in the ©) DIDEIIEE] ZCT—%T@'FI'IT{H % fordentor =i e
differentiation of T-lymphocytes ﬂj\q’éﬁT e 21
(D) Parathyroid glands are present on back side (D) YTYRRIEE Tf-ert grRise ufeer & agf 9T |
of the thyroid gland YT Bt 2
(1) B,C,D (2) A,B,C (1) B,C,D (2) A,B,C
3) A,C,D 4 A,B,C,D 3) A,C,D 4) A,B,C,D

194. Given below are the name of some hormones :- 194. :ﬁ%g@ B o AW A T -
(A) PRL (A) PRL
(B) Estrogen (B) SEISH
(C) Progesterone (C) TSIEeT
(D) Adrenaline (D) TEHeH
Choose the set of hormones which regulates the TafoEr it gig it FRIfE e aer gmiE @
growth of mammary glands :- IEPRIDAEETS k| E\lﬁ -
(1) A,BandD (1) A,BTAarD
(2) A,BandC (2) A,BTAarC
(3) A,CandD 3) A,CTAarD
(4) B,CandD (4) B,CdarD

195. Corpora quadrigemina is associated with 195. AT FTEISIHAT Triferd aid & 2
(1) Hypothalamus (D) HELIDNEL RS
(2) Thalamus (2) ImE Y
(3) Mid brain (3) He uikash o
(4) Cerebrum 4) TS °
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ALLEN

196. The somatic neural system relay impulses 196. Tk TRt a7 IS o
from the :
(1) CNS to the involuntary organs (1) FE R a1 W ST Wﬁﬂ%t@aﬁ%
(2) CNS to skeletal muscles (2) e TATRT O | Shehlet! YR deh T aTdl &
(3) CNS to smooth muscles 3) WWW@WWWW%
(4) All of these (4) IUh aeft
197. Which of the following are examples of 197. f=fafad § & 8 Serewr Siasfed Jeamadt
conditioned reflex? foramati o6 27
(a) Displacement of leg on pinching by needle. (a) Eg;«\l}ﬁ U T T FMT
(b) Playing guitar (b) e ate
(c) Coughing (c) @ieT
(d) Sneezing (d) BT
(e) Swimming, singing, cycling (e) AT, TTTrhT, |TEfeRet =TT
Choose the correct option. E%'Taj'laﬁl
(1) a,b,e (1) a,b,e
(2) bande (2) bdute
(3) cande (3) cduTe
(4) b,c,d (4) b,c,d
198. Select the incorrect match :- 198. T oI T == Y -
(1) Myasthenia gravis—autoimmune disorder (1) wrvesfar afew - wufaeft wr e
affecting neuromuscular junctions frenT wfer Ut et |rdt R
(2) Muscular dystrophy — genetic disorder 2) Ut ﬁe‘.@'@ - &Tﬂ)ﬂﬁﬁﬁ )
(3) Tetany — Rapid spasm in muscle due to (3) feet - waremT # Ca™? &t SAferehar @ ufvmr o
high Ca*in plasma SIERGCE]
(4) Uremia — increase level of urea in blood 4) ?Jiﬁl?ﬂ _HH ?II;F{?JT EARIEIRCEEIN
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199.

200.

ALLEN

Consider the following four statements (A-D) and select
the option which includes all the correct ones only :-
(A) Sarcoplasmic reticulum is store house of calcium
(B) Bundle of muscle fibre is called fasciculi

(C) Myofibrils are present in muscle fibre

(D) Cardiac muscle are striated and voluntary

(1) Statements A, B & C

(2) Statements B, C & D

(3) Statements A, C & D

(4) Statements A, B & D

"Malleus and stapes" are found in :-

(1) External ear

(2) Middle ear

(3) Internal ear

(4) External auditory meatus

199.

200.

freafafaa =m weAt (A-D) W fa=m fifv sk
Hee e eI ST T ferehed T -

(A) UefiEe SfcTehT e 1 R T8 7l
(B) URT A3l T SUSH HIHERIATS el
(C) et ier Ot T & 3ufderd B 2

(D) &ea Ut Waa e e gt )

(1) T A, BAC

(2) F¥TB,CTD

(3) FITA,CAD

(4) FITA,BAD

Heftard o T et arft STt 22

(1) sT&r ol g

(2) A FNH

(3) ofa: & o

(4) STRI 01 FeL H
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Read carefully the following instructions :

1.

Each candidate must show on demand his/her
Allen ID Card to the Invigilator.

. No candidate, without special permission of

the Invigilator, would leave his/her seat.

The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty.

Use of Electronic/Manual Calculator is
prohibited.

The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as per
Rules and Regulations of this examination.

No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

The candidates will write the Correct Name
and Form No. in the Test Booklet/Answer
Sheet.

frefafea fdw =M 4 w< -

1

. I8 ST W Ycdeh qienet, fRiemh ol 37971 Ter qeam
EERECI

. Trdtere =1 fauiw srufa & fomm i adanet sroen
HE A 8IS |

. R feres oY 319 SWR-9= fou fomm =niE wiameft
e B TE eS|

. oI /Teaafaa afteas &1 39 afdq

T

e g B omeRvl & for wienel wien & @t
vt wa fafemi gr frafid %1 sTgfed arem & |
T 1 e Tden & frami e fafad & R
B |

Rt greta B wRieT gRaeht $IR STR-U3 1 hig oM
ST 7 HL |

et gfeTeht/STR-T5 H qtamedt SToT Wet AW 9 Wi
TR T |
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